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Running Expressions with Equalities:

Increasing and Decreasing Orders - 1
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Abstract

In previous work [12], running inequalities are written in terms of 1 to 9 and 9 to 1 or 9 to 0
separated by single or double equality signs. Each digits is used with basic operations, along with
factorial and square-root. These types of equalities, we called as running expressions. We have
again reorganized the same work in such a way that increasing decreasing cases are written together.
This part contains the the results from 0 to 999. For 4 digits onwards the results are given in second
part.
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1 Introduction

Before starting the work, below are some representations of numbers in different situations done by
author [18|19] . The work is for 9 digits from 1 to 9 in increasing case and 9 or 10 digits, i.e., from 9 to 1
or 9 to 0 in the decreasing case. In some cases, the results are symmetric and are uses all the 10 digits,
i.e., from 0 to 9. In this cases exponents are of same digits of bases but with different permutations.
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1.1 Crazy Representations of Natural Numbers

In 2014, author [9] wrote natural numbers in increasing and decreasing orders of 1 to 9 and 9 to 1. See
examples below:

100=14+2+34+44+54+6+7+8x9 = 9x8+7+6+5+4+3+2+1.
101=14+2+34+5+6x7+84+9 Ox84+7+6+5+4+3x2+1.
102=124+3%x4x54+6+7+84+9 = 94+8+74+6+5+4>+2+1.
103=1%x2x%x344+5+64+7+849 9+8+4+7x6+5x4+3+421.
104=1+23+4+5+6+7%x84+9 94+8+4+7+65+4x3+2+1.
105=1+2%x3%x4+56+7+8+9 94+8x7+6x5+4+3+2+1.
106 =124+3+4x5+6+7%x8+9 94+8x7+6x5+4+3x2+1.
107 =1x23+4+56+7+8+9 94+8+76+5+4+3+2x1.
108=1+2+34+4+54+6+784+49 = 94+8+76+5+4+3+2+1.

For comments on this work see [1} 2,7, 8].
1.2 Flexible Power Representations

Instead working with increasing and decreasing cases separated, here we worked in such a way that
the results are always symmetric. This we have done using all the 10 digits, i.e., from 0 to 9. The results
obtained are symmetric, i.e., writing in 0 to 9 or 9 to 0, the resulting number is same. The idea used is
in such a way that numbers are written in 0 to 9 with permutations of powers also used the same digits
i.e.,, 0to 9. See below some examples,

201 :=03+17 +2* 437 — 4% 450 65+ 7° 482 + 90
202:=0"4+17 +2043% —47 +5° 4+ 63 + 72 481 + 9%,
203:=0%—1°+2*+3" —48 450 4+ 65+ 75+ 82 4+ 91,
204:=0%4+17+2°+3" —4° 45" 6+ + 72 18V + 93,
205:=0>4+1° +2*+3" — 4% +59 4 60+ 7° 182 + 9.
206:=0"—1° —2°—3% 4454 51 1 63+ 74 4 89 4 92,
207 :=0%+1%+2°+3" — 45450 4 6* + 72 4 81 493,
208:=0"+17—2>—38 + 45451 4+ 63+ 74 48" + 92,
209:=0"—1°—2>—3% 445450 4 63 4 74 4 81 4+ 92,
210:=0°—17 —28 =39 + 41 455 4+ 60 + 72 - 8* + 92,
211:=0"+17 —2° - 38 + 45450 1 63 + 74 4- 81 + 92,
212:=0°+17 —28 -39 441 4554 6" 4 73 4 8% 4+ 92,
213:=0°+18 —27 — 3% + 41 455 4+ 63 + 70 - 8* + 92,
214:=0°+17—28 3% + 49 455 L 6! + 72 4-8* + 92,
215:=0°+17 +28 437 — 45450 1 6* + 72 483 + 9L,

For complete representations of numbers from 0 to 11111 refer to author’s work [17]:
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1.3 Pyramidical-Type Representations

Following of the same idea of subsection[I.2} below are numbers with pyramid-type representations:

e22=0"-1°-224+3°
=0"+1° 42" +3% + 4!
=0*—1°+2°+32+4°+ 5!
=0"+1042°-3*+ 4> +5' +¢6°
=0°+17 203" +4' +5 + 67+ 7°
=0 +14 42543 4" +5°+6°+ 70 +8°
=00-1742° -3+ 4 45 +6°+71 480+ 9

©1089 =0' +1942° +3* +4° -5
=0"—1°+2" + 3%+ 47+ 57 + ¢
=0 +10-2"+3 +4" +5'+6" 4+ 7
— 0017424 38446455 1 gl 473 4 &2
=00-1742" -3 +4' +5° +6° + 70+ 8" + 9.

01179 =0' +1° +2° + 30+ 4* + 53 + 2
=02+104+2*-3"+4° 45+ 63+ 7!
=004+1"—-284+3°+4' 450+ 60 + 72 4 8
=004+17 28 —3" 442 4+53 6! + 74482+ 90

The digits appearing in bases and exponents are same in each case. For complete representations of
natural numbers from 0 to 1500 refer to [15] [16]:

1.4 Single Digit Representations

In subsection all the nine digits are used to write natural numbers. Here the work is done writing
numbers for each digit separately. See examples below:

717 = (1 + 1)1 — 11(0+1+1) 995 = (11 — 1)1+ — (11 -1)/(1+1)
=222 4222 +22/2 = 2242 x (222 +2)+2/2
=30+ _3_3x3 —3x333-3-3/3
=4 x (4x44+4)—4+4/4 =4x (4*—4—-4)+4-4/4
= (55 % (55+5+5) +5+5)/5 =5%x(5+5)x(5x5—-5)—5
=(6x6/(6+6))°—6-6 = 666 +6 X 66 — 66 — 6/6
=777 -7 %x7—77/7 = (7+7) X (77 =7)+7+7+7/7
=8 x 88+ (88+8+8)/8 = 888 + 88 +8 +88/8
=9 x9x9—(99+9)/9. =999 — (9+9+9+9)/9.

Values are calculated up to 1.000.000, but the work is written only from 0 to 1000. For details, refer
to [10]:
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1.5 Single Letter Representations

We observe that the numbers written in previous subsection[I.4]are not in a symmetrical way. But there
are numbers, that can be written in a symmetric way. Motivated by this idea, instead working for each
digit separately, we can work with a single letter “a” . See examples below:

5 ':( a—a)/(a+a). 1089 :=(aaaa — aa — aa)/a.
=(aa+a)/(a+a). 1991 :=(aaaaaa/aaa X (a+a) —aa)/a.

55 —(aaa—a) (a+a). 2020 :=(aaaaa — a)/aa x (a +a)/a.

56 :=(aaa +a)/(a+a). 2035 :=(aaaa —a)/(a+a+a) x aa/(a+a).
561 :=(aaaa + aa)/(a+a). 4477 :=(aaa/(a+a+a) X aa x aa)/(a x a).
666 :=aaa X (aa+a)/((a+a) x a). 4999 :=(aaaaa — aaaa —a —a)/(a+a).

925 :=(aaaaa — aa)/(aa + a). 5000 :=(aaaaa — aaaa)/(a + a).

where a € {1,2,3,4,5,6,7,8,9},and aa = 10> x a + a, aaa = 10> x a + 10> x a + a, etc.

For full work, refer to [11},[13]]. The first reference is up to 3000 [11] numbers, while second reference
extend it to 5000 [13] numbers.

For study on numbers in different situations refer to [3, 4,5, 6]. Summary of above work can be seen
in [18,[19]].

1.6 Running Expressions

Previous section (I give idea how we can write natural numbers in different situations using 9 or 10
digits. In this section also we shall do similar kind of work, but in little different way. It is based on
the idea of subsection We divide the numbers in equal parts, two or three in such a way that the
results are increasing and decreasing order of 9 or 10 digits, for example we can write,

124 = (5467)/(8 x9)
98/7+6 =54/3+2x 1.

Below are more examples, written in increasing and decreasing ways:

e Increasing Order

12=34+4+5%x6+7+8)/9
123 =4+54+6xX74+8x9

1234 = —5+6! +7+8Y9

12+43x4+5x% (6+7) =89
1+23+4546! = 789

(1)
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e Decreasing Order

98 —-7x(6+5)x(4—-3) =21
V9 x 87 + 6+ 54 = 321
98471 —6x5! =4321

9-84+7—-6+5+4—-3+2=10
9x (847)+6+5+4%=210
(9 — 87+ 6!) x 5! /4! = 3210

98 = (746) x5+4 x 3+21
987 = 6! +5! + (4+3) x 21

98=7+65+4+32-10
987 = 6! +54 + 3 + 210

()

Above examples give representations separated by equality sign having the digits in either increas-
ing and/or decreasing orders. There are numbers that can be written in increasing as well as decreasing
orders at the same time with single or double equality signs, such as

016:=12/3x4 =5+6+(7+8)/V9
= (9+87)/6=5+4+3x2+1.

18 =12+3! =+4+5x6=7+8+9
—V94+84+47=+v6x54 =—-3+21 = 3!+2+10.

0120 := (1 x 2+3)! —4x5x6=((7+8)/V9)!
= ((V9)! =8+ 7)1 =6x5x4=03x2—1)1 =3Ix2x10

(3)

The examples given in (3) divides the numbers in two and three parts respectively with equality
signs using the numbers in increasing as well as decreasing orders. We observe that the operations used
are addition, subtraction, multiplication, division, potentiation, factorial and square-root. This work
is a revision of of previous work [12]. This work is divided in two parts. First part give the numbers
up to 3 digits. 4, 5 and 6 digits results are given in section part [20]. Increasing and decreasing orders
are put together. Factorial and square-root are used along with basic operations. In continuation, the
work is extended with use of Fibonacci sequence values. For details see [21, 22].

2 Double Equalities Running Expressions

In this section, we shall give equalities among the expressions divided em three parts as

[1,2,3] = [4,5,6] = [7,8,9]



Inder J. Taneja RGMIA Research Report Collection, 20(2017), pp.1-57, http://rgmia.org/v20.php

in the increasing case, and
9,8,7] = [6,5,4] = [3,2,1]or[3,2,1,0].

in the decreasing case. Below are the some possible numbers.

ol
123 = (4-5)°=(-7+8)°
(9-8)7=(6-5*=3-2x1
(3 2)10
2
:12/3! =V4x (=54+6)=7—8+9
:V9-8+7=6/V/5+4 =3-2+1
=3 — (21 x 0)!
®3

(=142)x3=445-6 =(—7+8)x+9
VIX(8-7)=6-V5+4=3x(2-1)

=3+421x0
o4
:12/3 —4x(-54+6)=—-7+8+9
:V9+8—-7=(6—5)x4 =3+2—1
= V3x2+10
o5
:1x2+43  =4—-5+6=(7+8)/V9
(V) —8+7=6-5+4=3x2-1
®6

:1x2x%x3 :(4+5—6)!:7+8—9
:—9+8+7=6x(5—-14)
=3x2x1

o7
:142%x3 =—-4454+6=7x(—8+9)
:(9—8)x7=6+5-4 =3x2+1

o8
1x22  =\/4+V5x6/=7—-8+9
:9_84+7=+6!/5-4 =32_1
o9

12 -3 = VA+5+6=1/78+9
Ix(8—-7)=6+V5+4=3"x1
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10
:94+8—-7=6!/5+4=32+1
=(3-2)x10
e11: V9 +8!/7!1= 6+ \/ /54 —3Ix2—-1
—3-2+10
12

11x2x3  =(VA+5)!+6=7+8-9
P —V9+8+7=6+(V5+4)=3x2x1

= (342)!/10
13
1142x3  =V44+5+6="78/(V9)!
P (VOI/8N)I 47 =6+5+V4=3x2+1
=3!/2+10
e14

:98/7 =—-6+5%x4=31-2+10

e1l6
91/81 +7=6+5xvV4=3x2+10

18

‘1243 =V4+5x6=7+8++9

V94 847=vV6x54 =-3+21
— 3142410

24

1423 =445/6 =7+8+9

:94+8+7=(6—5) x4 =3+21

e 31
VIX84+T7=6+V54=32-1

e 35
S (—VI9+8)x7=6+5+4=(3)2-1
=3+ v210

042

- (V91/81)! x 7 =6 x (54 V4) =32+ 10

e 48
:(V9)/(847) = —6+54 =31 x (=2 +10)
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e 63
:91/(8!/7) = 65— V4 =3x21
° 64
(91— 8!1)/7! =6l x5+4=232x (1+0!)
72
:12%x 3! = A5 x6=78—(VI)!
9 x 8!/71 =6!/(5%x V4) = 3! x (2+10)

e 80
(91480 /7t=6!/(5+4) = (314+2) x 10

090
V9487 =—6+5—4=32x10

0120
(1 x2+43)! —4x5x6=((7+8)/V9)!
(V) —847)1=6x5x4=(3x2—1)!
=3'x2x10
240

i1/ (9 +81)/7=6!—5!x4=3ll/(2+1)

e 719
c—14+(2x3)! =4—-546!=7—8+ (VI)!!
(VI —847=61—5+4=(3x2)!—1
0720
(V12X 3)! =4I x5x6=(—9+8+7)!
(74+8-9)!=6x5x4=3x2)x1
o721
14+ (2x3)! = —4+54+6!=-7+8+ (V)
(VO +8-7=6/4+5-4 =(3x2)!+1
0727
D (VOI/8)I 47 = 6! +5+ V4 =3I+ (24+1)! + 0!
e 840
c(—V948)I X7 =645 x4l =311+ ((2+ 1) —0!)!
° 4320

L —(VOI/8DI 4+ 71 =6 x (V5 +4)11 =311 x (2+1)!
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¢ 5040
c(14+2x3)! = (—4+5+6)! =7 x (-8+9)
(9-8)x 7t =(6+5-4) =(3x2+1)
e 5046
D (VOI/8N)!I 4+ 71 =64 (5+V4)! =31+ ((2+1)! + 01!
* 5760
: (V) x 81/7! = 6! + (54 V4)! = 3! x (=2 + 10)
* 15120
£ V/OI/81 x 71 = 6!+ 51V4 = 311 x 21
° 17280
V9 X 8!/7=6x5 x4 =31 x (2414 0!)!
° 30240
SVO/8I X 71 =6 x (5+V4)! =31 x ((2+1)! +0!)!

40320

1x (2)! =4+ V5x6!l=(7-8+9)!

S(9—84+7) = (V6!/5—-4) = (32-1)!

* 279936
L (V91/811)7 = e7HV4 = 3@+

* 362880
:(12-3)! = (V4+5+6)!=7'x8x9
9% (8—7)=(6+V5+4) = (3 x1)!

3 Single Equality Running Expressions

In the previous section [2, we gave running expressions with double equalities in increasing and de-
creasing orders together. Unfortunately, there are only few examples. Below are examples of single
equality running expressions. The results for increasing and decreasing orders are together. The ex-
amples are only up to 999. Further order, i.e., for higher digits, i.e., for 4, 5, 6 digits etc. are given in
[20].
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3.1 Increasing and Decreasing Orders

o0 ®5
:9-8-7+6=(5-4)2-1 :1x2+3 = (45+67)/8 -9
:12/3—-4 = (56/7—-8)x9 112 44 =54+6—-7—-8+9
o1 112 x5 =6—(—7+8)°
:1? = (-3 +4)>% 1P 16 = (7+8)/9
1% = (—4+5)"% 1(9-8)76x5 =44+3-2x1
12 = (—5+6)" L (9—8)65 14 =3x2—1
179 = (-6+7)% (VO — 847 =6—(5—4)™
129456 = (~7+8)’ (986 x5 =4—32410
o1 :(V9)! —8+7 =6 — (54321 x 0)!
(9 _ 8)7 (6 5)4321
(9 o 8)76 (5 4)321 .
[
:(9-8)% =(4-3
( )7 (4-3)" /12 x 3 =(45-6+7+8)/9
:(9-8)7 = (654321 x 0)!
6 :v/12x 3 =4+54+6+(7—8)x9
(9 —8)70 = (54321 x 0)! - .
13445 —6x (—7+8)
(9 8)765 (4 )210
o _ gVest _ (3 _ 1 1P¥ 6 =7+8-9
9 —8) (3-2)" :(9-8)x7—-6+5 =443~ (21 x0)!
°2 :(9-8)7 x6 =5+ (4—3)%!
18 445 =6+7-8-9 1 (9-8)" x6 =54/3-2-10
B4 _546=7-8+9 1 (9—-8)6 +5 —414+3-21
:12/3! —45—-6x74+8-9 :(9—-8)°+5 —44+3-2+1
V9—8+7 =(6-5)"2 41 :—9+8+7 =6 x (5—4)%2
‘vV9-84+47 =6x5—-4—-3-21 :=9+8+7 =6x(5—4)+321x0
:—9+8+7 — 6+ 54321 x 0
°3 1984 (7—6x5)x4=3x2x1
:1x2-3+4 =56—7x8++9
(142 —=3+4x(56/7—8)x9
V12 -3 —=4—(5+67)/(8x9) 4
. _ 9
£ (/9% (8-7) = 6x54—321 tVI12/3+45 =6+(-7+8)
Vox 8-7) 5x4-3-2x10 R =7x(-8+9)
4/9IX(8—7)=6 X4—-3—-2x
8-7)=6+ (142 +34 —56/7+8—9
o4 :(9—8)><7 =6+ (5—4)%!
2128 % 4 =5—(—6+7)% (9—18) x =6+ (54321 x 0)!
1 (9+8+7)/6=5—(4—3)2 (9—8)" + =5+4!-32+10
:(9+8+47)/6=54—(3+2) x10 1 (9-8)7 + —5+4-3+2-1
$(9—-8) x4 =1+3x2+10 1 (9—8)" + —54/32+1
:(98/7+6)/5 =4+321 x0 1 (98+7)/ (6+5+4)—3><2+1
:(98/74+6)/5=4+3-2-1 :9Xx8—(746) x5 =V4+32+1

10
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o8 12
1 x 23 = (4—5) x (6—78)/9 112=(3-4+5) x (6x (7—8)+9)
:12/3+4 =56/7 x (—8+9)
12-344+5x6 =7-8+9 H12=(34=5x6) 78+ V9
19— (8-7)% = V43 +21 :12=3x (4+ (5+67)/8—9)
:98/7 —6x (5—4)=32—1 :12=3x (4+5+67—-8x9)
19— 847 =6x5—43421 12=344+(5x6+7+8)/9
19847 =6+ (54/3+2)/10
:9—-8+7 —6+5x4+3—21
:9—8+7 = 654/3 — 21
9-8+ 654/3 — 210 2
1% 2x3! = V4+5-67+8x9
.o :(9-8) x7+6—-5+4=(3+2)!/10
:(9-8)+6+5 =4x(3+21x0)
:1><23—4><5+6:\/78+\/8§ (98 +6+5 —4x3x(2—1)
(9% (87 =5+44321x0
x(8-7) At aalx V94847 = (65—43)/2+1
:9x (8-7)° =54/(3x2) x 1
9 x (8—7)% =44+3+2x1
:9x (8-7)% =4-3-2+10 13
[
(9% (8—7 = 65— (4+3)x (—2+10
9 ES 7; 6 54(1/:;)21( o 1423l = (45-6+78)/9
9% (8- =6—
:12/3+4+5 =6—-7x(8-9)
:(9-8)x7+6 =5+ /43421
e10

S _ _ =\43
12-3-4+5=6x (7+8)/9 VOB 147 = (6 -5 +2+10

V12x3+4 =5-67+8x9

19+ (8—7)5 =54/(3x2)+1 +98/7-6+5 =4+3x1
9+ (8—7)° =54/34+2-10
94+ (8-7)% =4x(342)-10
9+(8-7)5 =4+43+2+1 14
c(1x2)x (3+4)=(5+6)x (=7+8)+9
:12%x3/4+5 =6+7—8+9
11 :98/7x (6—-5) =(4+3)x2x1
:12x (34—5%x6)+7=8+9 198/7x (6-5) =4x(3-2)+10
:—1+2x3! — V4567189 9877 =645+ (-8 x2+1
98746544  =3-2410 98/7 =6+5+4+37-10
Ny (65— 13)/2x1 :98/7 = 6+54/31x2—-10
:98/7 =6-5/+4x32x1
VI9+8x(7-6) =(x4-3")x1 .98/7 65— 434210
V948 =74+6x54—-32x10 ‘9 _84746 —=544-3-24+10
:V9+8 =74+6—5x4—3+421 :9-8+7+6 =5-4x3+21

11
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e15 19
:142+3x4 =5x%x(6%x(7—8)+9) :9—-8+7+6+5 —4-31421
11243 =44+V5x6x7—89 '
1243 — \Vi_56+78—9 : V9 |14+746=>54/(3x2)+10

:12-3x(4-5)=6—(7—8)x9
:(V9+87)/6 =5x(4+3)—2x10

9B |1 4+7+6=5—-4—3+21
:(V9+87)/6 =54/3-2-1 VO |17 *

16 98 —76 -5+ V4 =32+10
2/3 4 X (67— 8)—9 :9—8+7+6+5 —443+2410
:12/3 x 4 =5+6+(7+8)/V9
:124+3—4+5 —6-7+8+9
(9% (8=7)—6—5)*=3x2+10
. (9+87)/6 = (5+43)/(2+1) *20
:(9+87)/6 —54+44+3x2+1 1948+ (7+65)/4! =+v31-2x10
(91 87)/6 544350 :—9487-65+4+3=2x10
. (9187)/6 Ce1/3-2%1 :98/7+6 = (5—-443-2)x10
087465 _ :98/7 +6 =54 (44+3)x2+1
:98/7+6 =5+4+3-2+10
$—98/746x%5 =V4+32+10 1 98/7 +6 —54/3+2x 1
:( x@)+7 —65—43— (241)!
17 o221
1x24+3+4-5+6+7=8+9 c(142)x (3+4) =56 x7/8x9
—124 454647 =8+9 :—1-23445 =(6—7+8)x9
19+8x(7-6) =(54-3)/(2+1) L(VO) +8+47 =65-43-2+1
;21?(7—6) ;54:?6;_2;;;(/’2_1 VI (8—7+6)=54—32—1
198 -7 x (645) = (4—3)x21
9+8 SR Byhser - Ve 3210
s 98 -76—5+4 =3x(2+1)+0)
[ J
:12 4 3! = (V4x56—7—8)x9

112-344+5 =6'—78x%x9
c(9+87—6)/5=V4x3x (2+1)

e22
:(9+87-6)/5=V4+32x10 :—1+23 =4+ (5+67)/849
V9847 = (65+43)/(2+1)! ;124 34 —5x6-7+8-9
tV9+8+7 =67/432x1 S 12434 =54 (—6+7) x (8+9)
VI+8+T7 =6+54/314+2+1 :94+8x (7—-6)+5 =43-21
VI9+8+7  =6+54-32-10 :V9+8!/71+6+5 =43-21
19— 8x7+65 =44+3—-2+10 :(9-8)x7+6+5+4=32-10

12
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e23 26

:1x23 =454+ 67 — 89 1P x4x5+6 =78/V9

:1 %23 =4-56+78—9 :1x23+ V445 = (647) x (8= (VI

P=1423-4+45=6-7+8xV9 H(—(V9)!+8) x (7+6) =5x (4—3) +21

:1-23445 =6-7+8x9 :(9-8)7 x (6x5—4) =31+2x10

19+ V87 —6+5=4x3x2-1 (—=(V9)! +8) x (746) =54/3—-2+10

VIX8-7+6 =54-32+1 27

19+ V87 —6+5=43-2x10 ((1+2)° =4+5-6+7+8+9

VIX8—74+6 =5-4432-10 c(1+2)° —45-6!4+78x9

:1x234+4 =5-67489

w24 9% (87 —6) =5+43—21

1x2—-34+56=7+84+9 :98—-76+5 =4+43+4+2x10

11423 =4x 5+ (-6+7)%) :1/9 % (87 —6) =54 x (3+2)/10

11423 —4x5x6—7—89 28

1+ 23 =4+5+6-(7-8)x9 112344 — V5161789

+1+23 = V4 x (5x6+78)/9 198/7 —64+5x 4 =31 + 21 + 0!

:12/34+4x5 =6+74+8+9 1 (984+7x%x6)/5 =4+3+21

1243x4  =5+6+78/(V9)! VIX8xT7/6 = (5+4)x3+2-1

P124+3+445 = V6 x7+89 ‘VIX8x7/6 =5+43-2x10

29

024 t1x243+4! =5x6—(-7+8)’

: (9 —8)7% x 4! =3+21 :4/(9+87) x6+5=—-4+32+1

:9+8+7x(6—-5)=4x3x2x1 :\/m—kS:\/E—kZl

194847 —6+54/3x (2—1)

1 V9 %8 =7+6/432 -1 *30

(94847 —65—43+2x1 c(1243) x V4 =56-78/V9
(0187) %6 = (5+4)/3+21 :—12-3445 =6+7+8+9

(94+8+7 = 6+5x (4432)/10 9876 =543l

94847 — 654 — 3 x 210 H(9-8)7 x6x5=(4-3+2)x10

:9+84+74+6 =54/34+2+10

(94 8+7x (6—5)=(4+3)1/210
198 —7—65+4 =32—1—0!

(9+87)x6  =5!—43x2—10 31
:vV/9x8 =74+6+5—-4x(3-2)+10 198 —76+5+4 —32-1
VIx847 = (654 —3)/21

o5 VI X847 =6+5-4+3+21

1423-445 =6x7-8-9 IV9+8x(7-6)+5x4=32-1

:1x23+ V4 —56/7+8+9 1 —V9-8+7x6 =(5-4)x32-1

14+ (=2430) = Ax56—78-9 Vo x 847 =6+54+3— V210

:(94+87)/6+5+4 =3+21+0! :—V9-8+7x6 =54—-3-2x10

13
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32
1(9-8)7 x6x5+V4=32x1
9% (87-6)+5 =43/2x1
198 76 +5+V4+3 = V210

:4/9%x (87—6)+5 =4x3+2x10
¢33

:1—2434 =5+ (6478)/V9

:1-2+34 =54 (6478)/V9

P — ( \/\/973) +7x6=(5-4)x32+1
034

1% x 34 =5x(6+7—8)+9

(98 —76 —5) x V4 =32+140!

. —98 X 7+ 6! =5-4+32+1

(94 (—8+746)x5=v4+32x1
(94 (—8+7+6)x5=4x3x2+10

e 35
124+ 34 =5+6+7+8+9
112-3+4x54+6=7x(8—19)
:((9—8)"+6)x5=4+32—1

(
:((9—8)7+6) x5 =43+2—10
(—V94+8)x7 =6+ (5+4)x3+2x1
(—V94+8)x7 =6+5x4—-3+2+10
(—V9+8)x7 =65+V4-32x1
(—V9+8)x7 =65—4—32+10
94+87—654+4 =3+V210

e 36
((12-3) x4 =5X6+7+8-9
1% 2+ 34 =5+6x7-8-19
12 x 3 — 4% (56/7 —8+9)
112 x3 —445+4+64+7+84 (V9!
:12 % 3 —44+56—7—-8—-9

:12/3x (4+45) =6x(7+8-9)
:(—948+7)x6=>54+3—21

14

e 37
:1+2+34 —=5x6-7x%(8-9)
:142+34 —5+6478/v9
:12x3—4+5 =6x7—84+9
:12x3—4+5 —6+74+8%x9
c(9-8)x (7x6—5)=4+32+1
198 — (74+6)x5+4 =312+1
:V9—-8+7x%6 =54/3x2+41
V9—-8+7x6 =54+3-2x10

e 38

t12x34+V4=5%x6+7—8+9

e 39
112 x (3445) =6!/(7+8)—9
(1243 + 4! =5!4+6-78-9
: =98 X 746! +5=4+3+2+10
:—98—74+6!/5 = (4+3)>—-10
1 —98—746!/5 =4+3%-1

:< @—7!) —6+5—-4+32x1
:< @—7!) —=65—4—324+10

040
12 x 344 =5x (—6+78)/9
112x3+4 =5x(—6+78)/9
112 x 344 =5-6-7+8x (V9)!
:1—2x3+45 = (6+7—-8)!/V9

S (V9)! —8+7x6 =5x+43+21
c(V9)! —8+7x6 =5+43+2-10

19 —87 645! +4=(3—-2)x10
41
:(V9)!x8—7 =(6-5)x(43—2x1)

:—9+8+7x6 =5+4+32x1
:—9-8-7+65=43-2x1
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042 46
112 x (3445—6) =71/(8 —V9)! 112434 =54+6x74+8-9
14243445 =6x7x(—8+9)  :12434 =54+6+7x% (8—+/9)
$12 4+ 3! 4 4! =5 —-67-8-+9  :12+34 =5+7-8-9
:(9-8)x7x6 =(5—-4)x (32410) :—9+8x7—-6+5 =4+32+10
:(9-8)x7x6 =5+4+32+1 =948 x7-6+5 =43+2+1

:—948+7x6+5 =4+32+10
V98 |1 x7 — 6454+3-21 :—98/7+6+54 =312+10
C—V9+ (8! —71)/6! =54+43 -2 x 1
:9—-8-7—-6+54 =32+10 : =9+ (81 —71)/6! =54/3 x 2410
VI x (847 —6+5) =43 — (21 x 0)! a7
VI x (84+7—6+5) —43-2+1 1423 % Vi 564 (7-8) 9
:( @)+7x6+5+432+10 12434 =546 =7x8-9
t(V9)!Ix8—7+6=5+43-2+1
i —94+8x%x7 =65 x4—3—210
:—948x%x7 —65—4%x3—(2+1)!
e43
12— 3+45 —67—-8x 9 *48
2% (341 =BT 89 c(1+23)x V4 =56-7+8-9

12x (3—4+45)=6x (7—8+9)

19 —8+7x6!/5=4%_-21
:(9—847)x6 =54-3-2-1

:9—-8+7x6!/5!=43+21x0

9_847x6 —5xvVE432+1 c(VO)/(84+7) =65—4—31x2—1
"9_84+7x%6 —54+V4+32x%x1 :(V9)! % 8 =74+6+54/3x2-1
9_847x6 —5-4432+10 :(V9)! x 8 =7+4+6+V54x (3-2)+10

1 (V9)! x 8 =746-5—V44+32+10
v 9—874+6+5 =41+3+21

49

((=14+23)x V4=5!/6+7+8+9
:14+2x3x4 =56+7x%x(8-9)

:1x2—-3+445 =6x7+8—(/9)!

198/7+6x5 =43+ (21 x 0)! 123 445+6=7" ()

:98/7+6x5 =43+2—1 * 50
c(14(=243D)!) x V4 =56—7—8+9
:—14+23xV4+5 =67-8-9

045 :1+23—4+45%x6 =7x8—(1/9)!

1% x 45 =(6+7—-8)x9 c—(V9)! +8x71/6! =5+43+2x1

19X (—84+7+6)=5+43-2-1 c—(V9) +8x71/6! =54+3x2—10

9-8-76+5 =43+2x1 = (V) +8x7 =65-4-3+2-10

IVIX (847)  =6+54/3+21 1x2+3+45 —67-8-9

VIX(847) =6+54-3-2-10 19X 8—76+54 = (3+2)x10

VIX(8+7) =6+54-3-2-10 P V987 x6+5 = (44+3)*+1

:VIx (847) =65+4—3-21 C V94 8!/7x6+5 = (44+3—-2)x10

15
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e 51

c(1+2)°%+4  =51/6x7—89
11243445 =64 (7+8)x V9
:124+34+5 =6+ (7+8)xV9

VIX(847)+6=5+434+2+1
‘VIX (847)+6=54—-3+21x0

e 52

c(14+2x3!) x4 =5—-6x7+89
:14+2x3445 = 6% 78/9
:14+2x34+45 =6x78/9

:—V9x 8476 =5+4!4+34+2x10
:—V9x 8476 =5+4x3x2-1
:—V9x 8476 =54-3+2-1

t V94847 x6+5=4x (3 x2+1)
c—V9+84+7x6+5=43-2-10

e53

:1x 23445 =6+7%x8-9

(18— 4456 =7%x8-19
c—142x (3+4!) =54+67x (8—9)

i —1+42% =445-6x(7—8)x9

:—94+8x74+6 =54+3>-10
94+ 8x74+6 =54—-3+2x1

:—V9+8x7 = (65+43)/2—1
:V9—-8-74+65 = (4+3)x2—1
V9 —8-7465 = V432410

e 54

:12-3445 =6x(-7+8)x9
(9 (8—7)x6=5+(4+3)2x1
(99X (8—7)x6=54+321%x0
19X (8—7)x6=54—-3+2+1
1984765 =+/4x32-10

e 55
:14+2x (34+4!) =56—(-7+8)°
112/34+45+6  =7+8x (V9)!
:12/34+45+6  =7+8x (V/9)!

:(124+3—4) x5 =64+78- (V!
c(V9)! x 8+71/6! =54 +3-2x1

(

(

1 (V9)! x 8 +7!/6! =54 —3%+10
(VI)!Ix8+7 = (65+43)/2+1
c(V9)!'x8+7 =6+54—(3+2)x1
c(VI)!Ix8+7  =6+54+342-10
:(V9)!x8+7 =65—-4-3-2-1

V9487645 =41+32 -1
:vV94+8—76+5 =43+2+10

e 56
:12x3+4x%5 —67—-8—1/9
i —(V9)! +8x7+6=5+4!x3-21
198 —7x6 —=5+43-2+10

e 57
:—142x(34—5)=6!/(7+8)+9
19+ 81/7Ix 6 = (544+3)x (2—1)
:9+81/7'x6 =5+43-2-10
:—94+8—-74+65 =41432+1

e 58

1(9—8) x (—7465) =4x3!x24+10
1(9—8) x (=74+65) =4>— (2+1)!

194 (8!=71)/6! =54+4+34+2-1
194 (8!=71)/6! =54—-3x%x2+4+10
e 59

:1+2%x(34—5)=6x7+8+9
12— V34456 =7x8+19
(94+8+7%x6 =54+3+2x1
(94+84+7x6 =54—3-2+10
:9—8—-74+65 = (4+3)2+10
V9+8x7 =6+5%x4+32+1
V9+8x7 —=65—4—-34+2—-1

16
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° 60 65
:12+3+45 =6x(=7+8+9) c(1243) x44+5=67—8+ (/9)!
:(12+43) x4 =5x(6+7+8-9) 014 2% =414+ (5+6—7)+8+9
H(1243) x4 =5x(6+7+8-9) 11+ 2% —445167-8-9
:(9+8— 7) X6=5+43+2+10 1403 4 546748-9
:(948—-7)x6=54+3x2x1
014 2% = V4+56—-7x(8-9)
°61 D14 V23x4 =56 —(7—8) x9
(1243 x4x5 =6+7+8x(V9)! 1 (9-8)7 x65 =43+2-1
(V9! x8+7+6=5+41+32x1 1 (9-8)7x65 =43421+0!
(V) x8+7+6=5+4+2-10 :94+8x7 =6-5+43+21
D(V9)! X847 +6=54+3x2+1 9+ 8x7 =65+4321 x 0
198 —7x64+5 —=43_2_1 VIH8XT7+6 =5x (4x3+2—1)
VI+8XT7+6 =5+4+32x10
® 62
:(1423)/4456  =7x8+(V9)!
1124+ (31+4) x5 =67—-8+9 * 66
(V9! +8x7 =6+54+3-2+1 :(1-23)x (V4—5)=67+8-9
(V) +8x7 =6-54+(34+2)!—10 11 x 2% V4 —56—7+8+9
—(VO)—8+76 =5x4+32+10 :(9—8)7 +65 — 41432410
~(V9)! —8+76 =54+32—-1 :(9—8)" +65 —4£42x1
:98/7 — 6 + 54 =3 x21—0! 198 — (7+6—5)x4=3x(21+0!)
_m+65:43_2><1 :VIX8+7x6 = (5+44!) x 321 x 0!
‘VIX8+7 %6 =5+(4%-2-1)
e 63
c—142% =45—-6+7+8+9
19 % 87 — 6! —54—-3+2+10 °67
19x8—+76+5 =43+2x10 :—142x34+5!/6 =78+9
:9—8—-74+65+4=3x21 :—1+23+45 =67 x (—8+9)
:V9—8+7465 =443x21
;( @)+76(5+4!)x321+0!
064
1 x 2% — 45+ 67 — 8 x (\/9)!
1% 2% = V44 (5-67) x (8—9) 68
] x 93X V4 —56+7—8+4+9 11 x (234 45) =67—-849
(VI —8+7)° — 5 x4 x32/10 :1x2x34 =56+7+8-9
:(\/§_8+7)6 —5-4+4+3x21 11 x2x34 =5—-6+78—-9
94 847x6+5 —43421 F(V)!+8x74+6 =5+4—2+1
19847 —65+41  =32x (140! C (V) +8x74+6 =5+434+2x10
P —V9+8x7+6+5=43+21 V9% (8—7)465=4+3x21+0!

17
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e 69
:1+2x34 =(-5+6)x78—-9
1142 x 34 =5-6+7!/(8%x9)
112 -3+4+56 =78-9

S (V) 4 (8! 4+71)/6! =54 43421
S (V9)! + (81 +7!)/6! =54+34+2+10
:(V9+8)—7+65 =4x3-2-1

: ( @) X74+6=5+43+21

070
c(142x3)xVax5 =6!x7/(8%9)
t1x2+3x4+56 =7!/(8 x9)

- VS [1+76 =5+434+2-1

71
:1—-243x4! =54+67+8-9
((9—-8)x (76 —5) =4'x3-2+1
:9x8—7+6 =54+43+2x1
19x8—-7+6 =54x3/2-10

19— 8x7—6+50+4=1/(3x2+1)1+0!

V9 —-847! =6+54+4'x3—-2-10
V9 —-847! =65+4!'4+3-21
72

c(1+42)°+45=67+8-19

£ 12 x 3! —(45—-6—7—8)x V9
:12 x 3! —454+64+7+8+ (VI)!
:12 x 3! — V445 —67+8+9

112x3x V4 =5-67x (8-9)

18

72
19 %8 = (7—6) x54—3+21
19 %8 = (746)x5+4+3+21x0
:9x8 =7x6+5x4+(3-2)x10
19 %8 —74+65+4—3-2+1
:9x8 =7+654+4321 x0
19 %8 =76 +5+4% 241
19 x 81/7! =65—4+3—-2+10
19 x 81/7! =65—V4+32x1

94847 —6+54=3!x (2+10)

19— 8+76 =5+4+4x (=3+21)
:9—-8+76 =5+43-2+10
072

:( \/9>8>+76+5 —4x (—3+421)
VOB |Ix74+6x5=4x(=3+21) x0!

73
:1243x4! =56/7x8+9
:9_84+74+65=41x3+2—-1

°74
112x3!4+V4  =5-6!+789
:(V9)! —8+76 =5!—43-2—1
:(V9)! —8+76 =5—4—-32-10
8—7)+65=4Ix3+2x1
8—7)465=V4x32+10

19 x (8—
19 x (8—
75
:14+243x4 =5x(6—(7—8)x9)
124344456 =789
L 948476 = (-5+43)x2—1

:984+7—-6x5 =43+ V20

076
:12x 3144 =5+6+7x8+9
:(9—-8) x76 =(—5+43) x2x1
:(9-8)x76  =54+32—10

9+8x74+6+5=4xV3!1/2+1
:9+8x74+6+5=43x2-10
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077
:—14+2x (3445 =6+7' —8+9
c(V94+8)x7  =6+54+V4+3x%x21+0!
c(V9+8)x7  =65+4x3x(2—1)
198476 =5+4x(—3+21)
19 —-8+76 =54+3+2x10

e78
: (123 — 45) =6 x78/(v9)!
c—1-243% =5—6+7+8x9

t(94+8x7)x6/5=4!x3+(2+1)! x0!
:(9+8x%7)x6/5=4l x3+(2+1)!

1 =9+ 87 =6+5+4+3x21

1 —9 487 =6+54+314+2+10

:—9 487 —6+54—3+21

1 —9 487 =65+ (44+3)x2—1

1 —9 487 —65+4—-3+2+10

:—9 487 = 65—41/3+21

1 —V9+87 =6454—3x% (2—10)
79

:1x2%x344+54+46=7+8x9

19X 8+71/6! =51—-434+2x1

19 x 8+7!/6! =5+V4x32+10

(99X 847 —6+5xV4+3x21

(99X 847 = 6+54+3%410

(9X8+7 =65—4—-3+21

:98/7 + 65 =4 x34+(24+1)!40!
e 80

:12/3 x4 %5 =(6!4+71)/(8x9)

:1—2+43 =54+6+78-9

198 — (7+65)/4 = (3!+2) x 10
:(9+87)/6 x5 = (4+3!—2)x10

:< \/9>8)—7+6=5><4—|—3><2><10

:(x/@>—7+6:54x3/2—1

e 81
((=1+2) x3* =5-6—7+89
1 (12-3) x (VA+5+6) =78+9
112 x 3t =(5+67)/8x9
:12x3+45 =6x(74+8)—9
:(9—8) x76+5 = (4143)x (2+1)
:—(VO)!1 +87 = 6°/(43 x 2+ 10)
: (V) + 87 —6+51—43-2x1
9% (8+7—6) =5+43%x2—10
19X (847 —6) =54x3/2x1
:9x /876 =5+4+32x1
V9 x (87 —6—54)  =32¥0+0)

e 81

V98 =74 (6454 x3)/2—10

V98 =7+4+65—4x3+21
V98 =76 +5 x (4 —3)%
1/ V98 =76+5+4321 x 0

e 82
112 434 = (5—6) x (7—89)
112434 =56 +78/v9

:9—8476+5=(43—2) x (140!

e 83

c(V94+8)x7+6=5x4+3x21
(V9 +8) X 7+6=54—3+210
t1x2+3* =5+67+8+9
:V9+8+74+65 =41/3! x 21 —0!

e 84

19

i —1x2+4+3*"+5=67+8+9

:12x (3x4—-5) =67+8+9

:12x (3x4—5) =6x7x(8— (V9
212 % (34 4) =5x(6—7)+89
123 —45+6 =78+ (V9)!
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e84 ¢ 89
:98/7 x 6 =(5-4+3)x21 1+ 2% 44! —5+67+849
:98/7 x 6 = 51— \/(4+32)1+0! c(VO)N/8—T74+6=5+V4-32—1
:—V9+87  =6+54+3+21 F(V9)11/8 -7 +6=54+3 -1

-, 54342410 (94 8+7+65 = (41431)x (2+1)—0!

£ /98 x (7 +65) = 41/31 x 21 *90

:(142) x (31 +41) =5x (6! —78 x9)

:1/98 X (7 +65) = V4 x (32 4+ 10) 12 % (344 56) _ (748 x (VO)!
: (V9)!1/8 =7+ (6+54x3)/2—-1
.8:51—2><(3—45):6+7+8><9 : (V9)11/8 —746+54+3+2x10
:94+87—6 =54/(3x2) x 10
:98—-7—-6+5 = (4!'+3)x(2+1)
* 86 L98—7—645  —(443+2)x10
19IX V87 —-6+5=43x2x1 V9 x (84 76— 54) = 32 x 10
87 1 V9487 =(6—5+V4+3x2)x10
(142)4 3 564748% /5 V9 +87 =6x5+4x (—=3!+21)
112 %31 +4+5+6="78+9 V9 +87 =6x5+v4+32x10
12x3+45+6 =78+9 1 V9 487 =6+5—4-32x1
:—1-2+434+56 =78+9 1 V9487 —65+4%x3x2+1
:(V9)!I x 87/6! x5! =43 x 2+ 1 V9 +87 =65+ V4+3+2x10
V948476 =54+32+1 091
(98 —7) x (6—5) = (4!+3!) x (2+1) +0!
e 88
092
:(—1423) x4 =5+6+7x (8+9)
t1x23x4=5+6+78+9
VB 71760 = 544321401 1x23x4=5+6+78+9
:ﬁ+7!/6!:x/57+3x21 °93
VF 47 —6i54x3/241 ((~14+23) x44+5=6+78+9
1423 x4 —54+6—7+89
:@4—7 =6—-54+43x2+1 c12 + 34 —54+6—7+89
VB 47 =65+43-2x10 112+ 3¢ =5+6-7+89
19+ 8476 —504+4-32+1
89 19+ 8476 —5/—4-3-2x10
1243 x445x% (6+47) =89 :9+8+76 =5+4x(32-10)
12434 VE45467 _ 89 : (V)1 +87 =6-5+41x3+2x10
1423 +4456+7 — 89 F(V9)!+87 =6+54+32+1
:1+23+V4+56+7 = 89 094
:(=1+23) x4+ (-5+6) =89
:El—J2r3)>)<(4—+5<)+6+7) S ;ﬁ+7+6:5!—4—3z+10
112X (344)+5x% (—6+7) =89 AV +7+6=-5"+(3x2)—1
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e 95 e 98
1(12+43+4) x5 =(6+7)x8-9 :—1—-23—4+51+6=7x (84 (V9
:—948x(74+6)=(5+43)x2—1
T8x (746)=(5+43) 19+8+76+5 =V4+3x V210
(9487645 =4x(31—-2)—1
19487645 =4x(3+21)—0! (V)L +8)x7  =6+(54-3)x2-10
:((V9)! +8) x 7 =6+5+43x2+1
(V9! +8)x7  =65+4x3+21
S((V9)!+8)x7  =65+V432—-10
¢ 96
:V12/3x45+6 =74+89 098
:(1423) x4 =5+67+8x%x9 198 = (7—6) x 5! —43 421
c(1+423) x4 =56 —7+89 :98=(7—6) x5+4!' x3+21
8= (7+6)x5+4x3+21
i —1423%x4+45 =6+ (7+8) x (V9! (7+6) x5+ *
98 =7 x 645! —43 — 21
(12x3+4+56  =7+89

198 =7x6+5+4!'x3-21
198 =7%x6+5+43-2+10

198 =7 +65+V4+3+21

198 4+7—6—5+ V4 =23x 210

e 98
¢ 96
L9487 —(6-5) x4x (3+21) 198 =74+65+4+32-10
9487 = (6-5)x43x2+10 198 =7+6+544+32-1
19487 = (6-5)x (43 x 2+ 10) '98—76X5/4+3+'21X0
L9187 645143 x2—1 198 =76+5+4+31/2+10
L9487  =6+54+3x (2+10) 198 =76+5+V4+3+2+10
:91+87 —65+4%/2 -1 198 =76+5+V4—3!421
:9+87 =65+4+3+21 198 =76+54—-32x1
-9 87 — 65443 —2—10 198 =71/6!+5+43 x2x1
L9487 65— VA3 41 :98 =71/6! +54 x 3/2 410
V9 +874+6=(5+43) x2x1
e 99
V9 +87+6=54+32+10
P —1x23+ V445 =6x(7+8)+9
198+ (7 —6)° = (4+3)% -1
298 + (7 —6)° = (V4+3)-21
e 97
(1Xx23x44+5=6—7x89 100

S (VO)/8+7 =65xV4—-32—1

S (V9)1/847 =65+4x (32 —1)

:98—74+6 = (5+43)x2+1
:98—74+6 =5+4x((38—-2)!—1)
:98—74+6 =5+4x(34+2x10)

21

(14 (—24+3))x4=5+(6+7)x8—9

. (98/7+6) x5

= (4+31)2x1

:(98/7 +6) x5
V9 x8+76
V9 x 8+76

= (443 x2)x10
=(5+4+3-2)x10
=5x4x(3+2)x1
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101 106
c(14+23)x44+5 =(6+7)x8—19 114 (23 —V4) x5=(6+71/8)/(/9)!
:—V9+8x (7+6)=(54—3)x2—1
t—V9+8x (74+6)=5+43x2+10 ©107
tVI+87+6+5 = (4+31)7+1 :(142)x34+5 = (6+7) x8+9
«102 1984+ V76+5 =4 %30
c(142)x34 =51/6—7+89 V9+8x(746) =5!+41/3-21
:1—23+4+5=6-+7+89 V948 x (746) =5!+V4+31—21
:9+87+6 =(54—-3)x2x1 108
1948746  =5!/4x3+2+10 142P x4 = (546-748)x9
1948746  =5-4+4x(3-2)+1
948746 =5+4x(3+21)+0! 112 (3—4) 5! =6 (7+8+9)
L9+ 8746  =54+30x(~2+10) H(VO+8+7)x6=54x (3-2+1)

1 (V9+87) x6/5 =4 x (31 +21)
¢ 103
C(VO)/8+7+6=(54—3) x2+1 * 110

((—12434) x5 = (647) x 8+ (V9)!
* 104 £ (98 —76) x 5 = (44+3-2)1—10
1123 —41+5 =6+7x (84 (VI)!) (VO)! 4+ 8 x (7+6) =5 x (43— 21)
(V9N +8)/7 =6+51+4-31-2x10 (VO) 48 x (746) =5 x 4% — 210
(VO +8)/7  =6451—4+3-21 198 474+6-5+4 =(3+2)!—10
:((V9)!' +8) x 7+6 =5!+V4+3—21 o111
D((V9)!+8) X 7+6 =54+ (3+2) x 10 . —12x3/4+5!=(6+7—8)1—9
:98+7—-6+5 =4 x (3'+2x10) L9847 46 —5—4-3-2x%x1
0105 198 4+74+6 =5+ (V4+3) x21+0!
1 (1243) x (V4+5) =6! x7/(8 x (v9)!) 0112
c—1243x%x (45—6) =71/(8x (v/9)) :—12/3—4+45 =6x7x8/V9
105 P94 8x7+65=(V4+3)+2-10
1984 71/6! = (54 V4) x (3+2+10) °113
1984 71/6! =5 x (4 —3) x 21 1123 — V4 x5 = (64+7) x8+9
¢ 105 1948 x (7+6!/5!) = (VA+3)! — (2+1)! - 0!
19847 = (6—5) x (VA+3) x (21+0) 9+8x(7+6) = (5443)x2-1
198 +7=(6—5) x (V4+3) x 21 e 114
1984+7=6x5x4—3—-2—10 c—(14+2)!'+ 3+ V4)! =5x6+78+ (\/9)!
198 4+7=6x5+4'x34+2+1 :9X84+7x%x6 =(54+43) x2x1
198+7=6+5x4x(3+2)—-1 (9X8+7 X6 =5+4+4x3* 40!
198 +7=6+5+4+32x10 19X 847 %6 = 54 x 3! — 210
(98 +7=6+5+4x(32+1) :9x84+7x6 =544+3x2x10
19847 =65+43-2—-1 C—V94+874+6x5 = (VA+3) —(2+1)!
98 4+7 =65+ V4314210 :—V9487+6x5 =4+ (34+2)!—10
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o115
114234 —5! =67 +8x (V/9)!

o117
c(142)x (34+5) = (64+7-8)!—+9
(99X (8% (7—6)+5) = (V4+3)1—-2—1

: ( \/@) X (7+6) =5+ (V4+3)!+2—-10
: ( \/@) X (746) =54+ 3 x 21

o118
(948x (74+6)+5 = (VA+3)!—2x1
:94+8x(7+6)+5 =4x32-10
198 +7+6+5+ VA= (3+2)—1-0!
e119
(1x2— V34 451+6=7x%(849)
124 1 5 =6-7+(8—9)!
c =1+ (2+3)! —4145-6+7+89
D=1+ (2+3)! =445/ 467-8x9
119
(94 8) x 71/6! = (54 V4) x (=3 +2 x 10)
o119
:(9+8) x7x (6—5) = (443-2)!'—1
:(9+8)><7><( —5) x(3+2)—1
(9 +8) x = 6!/5+4 V4 — 371
£ (94 8) x —6x5Y4-32+1
:(\@—s)x(7—6><5)+4:(3+2)!—1
V9 +8x 746+ 54 = (3+2)!—1
120
:(1x2+3)! —454+6+78-9
t(142) x344+5+6+7=(8—+9)!
1% (2+3)! —4+45!/6+7+89
1% (243)! = V4 +5+678/(V9)!
:12 x (3! +4) =6!/(7+8—-9)

120

:(9-8)x7x (6+5)+43=((2+1)! —0!)!
194+874+V6x54+3 = ((2+1)!—0!)!
:98+7+6+5+4 =(3+2)!x1

S ((V9)! —8+7)! =6+54+3x2x10
S ((V9)! - 8+7)! —65+4!+32—-1
: (\/ V98 —76)! = (5+4321 x 0)!
: (V98 —76)! = (54+3!) x2x1
:—9X87+6!x5/4+3 = ((2+1)!—0!)!
:V94+874+6x5 —4!'x (3x2-1)
:V9+87+6x5 4x3x2x10
e120

(—V948)! =74+6+5!+4+3—2x10

S (—V94+8)! =74+6+5—4x3-2+1
:(—V9+8)! =76+5x4+3+21

S (—V9+8)! =764+54x (3-2)—10

o121

1+ (243) =41 +56/7 + 89

14+ (243)! =44+5x6+78+9
1+ (243)! =45—6—7+89
o121
:9x (8x(7—-6)+5)+4=(3+2)!+1
194874654 4! = (342)!+1
198 —7+6x5 —41x (3+2)+1
0122
(1x2+(3+V4)! =5!—6+7—-8+49
V99— (8—7)° 5= —4+3!x21
0123

123 =4!45%x64+78—9
123 =4 x (54+6)+7+8x9

123 =4+5+6x7+8x9

1128 =4+5-6+ ((7+8)/V9)!
1123 = 4546 +78 — (V/9)!

©123 =45+ 67 +8+1/9

123 = V4+5x6x7—89

123 = V4 +56+7x8+9
123 = (4+5—6) x (—=7+8 x (v/9)!)
123 = (—4+5) X (64+7—8)1+9
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o123

:V123V4 =51 —6— (7—8) x9

e123
9% (8—7)—645! =4 x3l—21
19X (8—7)—6+5! =4+ (3+2)!—1
198 —7+6x5+Va=3+(2+1) 0!

A/ VLT %6 —544x32-10

o124

(1% ((243)!44) =5+6—7+(8—9)!
:(948)x71/61+5=4x (32—1)
:(V9)!x8+76  =5!4+4+321%0
c(V9)!'x8+76  =5/(3+2)—1
VI+8xT7+65 =4x(32-1)

o125
:123+V4 =56+78-9
1P 44451 =6+7x (8+9)

o125
:(9+8) x7+6  =51—4-3+2+10
:(9+8)x7+6 =5/(3+2) x1

19x8—7+6+54 =3Ix21-0
19X 8746l x5=(V4+3)!

o126
c(142)! x (=3+4!) = (6+7+8) x (v9)!
1123 — V4 +5 =5%x647+89
0126
(98 +7)x6/5 =44+ B+2)!+1+0!
(9% (81/7'4+6) = (54+4-3)x21
19 x (8!/7'+6) =5+4'x (3+2)+1
:94+87+6x%x5 =Vv4x3x21

198 —-7+6+5+4!=3I'x21

0127
(124 15146 =7+ (8—9)!
1 (12344) x (~=5+6) =7+ (8 — V9)!
1123 +4 =5!—6+78/(V9)!
:123 + 4 =56+71—8+9

0127
(V9! +8x7+65 =4x32-1

(

(—V9+8)! +71/6! =5!+4+3+2—-1-0!
(V94 8)1+71/6! =5—4+31x21
(—V9+8)+7 = (64+5)V +3x2x1
(—V9+8)!+7 —64+5/—44+3+2x1
c(—V9+8)!+7  =65+V4x(32—1)
198 X (7 —6) + 544! = 3! x 21 40!

198 —7+6-+5!/4 =3Ix21+0!

o128
1x 22t =514+6+7—-8+9

128
S(—(V9)! +8)78 =514 Va+3x2x1
:(_(\/§)!+8)7'/6' =5x%x432/10
(—=(V9)! +8)7  =645'—4+3+2+1
(—(V9)!+8)7 =6-5+4x32-1
S(—(V9)!+8)  =65+4%-2+1
((—=(V9)!+8)7 =65+43+2x10
:98/7 — 6+ 5! =4x32x1

AV VB +T7x64+5=4x32x1

129
2] 4 23+ =51/6x7—8—1+9
11234+ (V4+5)! = -6+ (7+8)x9

c(V9)!' x 8476 +5=43x (2+1)

e 130
c(1+2%)x V4 =5+6+7x(849)
:(9—8) x (76 +54) = (3+2)! +10
:9+(8—7)°+5! =4+3x21
:94+8x7+65 = (4+3%) x10
:9+8x74+65 =4+3I'x21

e 131
11243 445! —=6x7+89

:VI+8x (7—6)+5=4x(32+1)—0!

0132
12+ (34+V4)! =5!46+7+8—9

24
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132 ° 141
V9 —-8-74+6!/5=4x(32+1) :1x 23— V445! =64 (7+8)x9
C(VO)/8+7x6 =5!+4lx3!/(2+10) :—1—-2+43! x4l =51/6x7—8+9
C(VO)I/84+7x6 =5+4x32—1 9% (8+7)+6 =54x3-121
«133 C V9% (8—7)46!/5=(V4+3)+21
1123 +V4 x5 :6+7+(8—\@)! 14?2
98 +71/6! x5 =4x(324+1)+0! :—1x2+3! x 4 = 5! — 67 + 89
(—V9+8)4+7+6=5+4-3+2+10 98 —76+5! = (4x3)2—1-0!
(V948 +7+6=5+4x32x1 198 —-76+5 =4Ix31—-2x1
o134 o143
1-243x45  =67x (8- (V9)) 14 (243)! + 41 =56+78+9
19X (847) —6+5=(4x3)*~10 i ~14+2x3x4 =56+78+9
F(=(V9)! 487 +6 =5+4x32+1 :123+4 x5 — (6+7) x (8+9)
135
° 143
:(1243) x (VA+5+6) = (7+8) x9 )
19 % (8.4 71/6) _ 321 (V94 8) x (7+6) = —5+4x (32+1)
.9 % (8+71/6!) — 5444321 H(VO+8)x (746) =5+4x32+10
L9847+ 6x5 — (4 43)x ((241)—0) -9+87+65 = (4x3)7-1
135 144
99X (847)=6+5!4+4+34+2x1x0! S(142) x (3+45) =6x (7+8+9)
19x (847)=6+5+4x(32-1) 112 x3 x4 = (56/7+8) x 9
19x (847) =65+ (V4+34+2) x10 12 x 3 x 4 =5-+67+8x%9
19X (847)=65+4!x3-2x1
136 o144
(98 X7 —6)/5=4x (32+1+0) O+ 847)x6 = (5+43)x (2+1)
w137 t9X8+7+65 = (4x3)?x1
(98 x 7 —6)/5 =41 x 31 — (2+ 1) — 0! 198 +7+65 =4x3x(2+10)
9487 —6+54=3!1x2/10
e 138
:—(142)1+3! x 4! =56 — 7489 ° 145
:9X 8+ (746) x5 =4l x31 — (2+1)! :14+2x3x4l =5/+6x7—-8-9
(9X 8+ (74+6)x5=4x32410 198 +7x6+5=(4x3)?+1
¢ 139 0146
:@—7+65:4x(3!2—1)—0! :1x2+43Ix4 =546+ (7+8)x9
140 c—(V9)! +87+65=4x3+2x1
:98/74+6+50 = (4+3) x2x 10 : —(V/9)! 4+ 87+ 65 = —4> 4+ 210
:98/74+6+5! =4 x (31> - 1)
984+7x6 =5!4+4x(3x2—1) ° 147
198 +7x6 =5+4+3x2+10 +123 44l =56 x7/8x /9
19847 x6 =5x(4+3+21) :V9 % (8! =71)/6! = 5!+ 4+3+2x 10
19847 x6 =54x3—21—0! V9% (8! —71)/6! =51 —4+32—1
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e 148
19X 8476 =5'4+4+3+21
:9x8+76 =5—-4+32x1

VI8 —T7+6!/5=4x(3%2+1)
0149
:9x8+7x%x(6+5)=41+3!'x21-0!
150
c(14+2)!14+3! x4 =5x6x(7+8)/V9
$(1243) x VA x5=(6x7+8) x 9
150

:94+8+7+6+5!=(4—3%)x10
:94+8+7+6+50=41+3Ix21

VIX (847x6) =5+ (4x3)2+1

V9 x (847 x6) =1/5x (43+2) x 10
151

1 =9 —8+7!/(6 x5) = 4! +3! x 21 40!
e 152

((—(V9)! +8) x 76 =5+ (4+3) x 21

:(—(V9)! +8) x 76 = 54 x 3!/2 — 10

(9—84746!/5 =41x31-2+410
153

:—J7§x7+a:(ﬁ—3pqz+n
o154
:98/7 x (6+5) = (4 x3)2+10
156
112431 x4 =5!46x (7+8—09)
:—(V9)!1 +876 =51 +4+32 x 1
: — (V)1 + 876 = 5! + /(4 + 32)1+0!
198 —74+65 =41x314+2+10
(98— 7465 =4143!x (21 +0!)
o157

A/ V9 +76=50+4+32+1
o160

:(98/7—6) x5x4=4x (3 —2) x 10
o161

:—14+2x3*=5+67+89
19487465 = (4! +3) x (24+1)! —0!

0162
t1x2x3 = (=5+67—8) x V9
c—(V9)! X 8+7x6x5=(4+3) x (2+1)!

¢ 163
c1+4+2x3% =5+6x7—-8+9
198+ (7+6) x5=43+ ((2+1)! —0!)!

e 164

:—(V9)! 48X 7 —6-+5! =4! x 31 +2 x 10

e 165
: V9% (847 x6+5) =4 x3+21

0166
: (V9)!1/8 476 =51 +43+2+1
S (V9)!/8+76 =5!—4+ (3+2) x 10

S (V9)! —8+71/(6x5) = 4! x 3! +21+0!
168

S (142 x3) x4 = (56 +7) x 8//9

:(1243!) x (445)+6=7x8x9

12— 3 x (4 —56) =7x8x9
168

:(9—8) x7!/(6x5)=4x(32+10)
:(9—8) x 71/(6x5) = V4 x 21

1 V9 x 8 x71/6! = (5xV4+3)2-1

1 V9 x 8 x 71/6! =50+43+ (24 1)! —0!

:VIx8x7 = (6+5—4) x (3+21)

tVIx8x7 = (6—5) x 4!/3 x 21

:VIX8x7 —64+54x3x%x(2-1)

VI x8x7 —=6+54x3+21%x0
0169

11-2+34x5 = (64+7)8 (V!
A/ (142%x30)4=51—6+7+8x (V9)!

°172
:—V9 X 8+7645! =43 x (2+1+0!)

©174
c(142)!'x(34—5)  =6+7x8x%x+9
c—(1+2)143!1/4 = (5x6+7—8)x (V9)!

VI X (—8x7—6+5!)=(—41+311)/(2x (1+0)
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°174 * 186
198 476 = 5! + /4 x 3211 S(VIX (8x746)) = (5—V4)!x (32-1)
198 +76 =5+ (4 + 3%)1" t(VIX (8x746)) = —5+4!x (3 +2)—1
198476 =54x3+2+10 VIX(8XT74+6) =54 (4+311)/(24+1+0!)
198476 =54+ (3+2)! x1
98476 =54+ 3! x 2 x 10 *187
c1x24311/445=67+(8—9)!
179
:1—-24311/4=5—6-7+8x9 * 189
198 4+76+5 = (4!+3!)x (24+1)! —0! :14+2x3445!=(6+7+8) x9
180 * 189

(9% (847+6) =54/31x21
V98 —7 — 6450 = —41 4+ 3+ 210
o180

(V9 —8)/(=7+6+5)+V4=3!1/(2+1+0!) *190
c(VO)! +8x (—74+6x5) =4 x (31 +2)—1—0!

: (V12X 3)!1/4=5%6xX (7+8—9)

¢ 180
1(948) x7+65—4 =311/(2x (1+0)) 191
:(-9+8+7)x6x5 = (443 x (241)! D14 23 x 4! =56+ (7+8) x9
(-948+7)x6x5 =V4x3*x10 tVIX (8X74+6)+5=4Ix (314+2) —1
C— (V) +8 X7 +6454+4=3!1/(2x (1+0!)) VIX (8X74+6)+5=4%x(2+1)—0!
:\/\@x(8+7)><6! —= 54 4+ 3! x 21 e192
0182 11 x 2% x 4l =/ (5+67) x 89
:1x24311/4="51467—8++9 : =9+ 87+6x (=5+4!) =3l x V210
1% 2431/4 =5+ (67 —8) x V9 : =9+ 87 — 6+ 5! =4 x(2+1)

. _ 43
112434 x5 = (647) x (8+ (V9)!) 1 —9+87—-6+5! =4 x(2+1)
o182 VB —7—6+5!+4 =3!x V210
(V) +8)x (7+6) =5!+4°—2x1 ©193
(V9! +8)x (7+6) =54x3+2x10 11423 x 4! =5x6x7—-8-9
c(V9)! +8+71/(6x5) =4l x (31+2) —10 t—=(9+8)+7x6x5=4x(3!+2)+1

:—(94+8)+7x6x5=43x(24+1)+0!
183
:(1243!1)/4=5'—6+78—-9 *194

19X (84+746)+5=4!x (31+2)+1+0!
o184

196

1 (9+8) x 7465 =4 x (3 +10)
S(—V9+8)! +76 =5+4!l x (31+2) —1

e 186
C(14+2)14+31/4 =514+67+8-9 *199
14 (2% 3)1/4+5=(6+7x8) x 9 /= (Vo)1 481 +7 — 6= —51 — A+ 321

27
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e 200
:9x(847)+65=4x%x(3+2)x10

201
c(12-3)V 451 =61—7—8Y°

204
c(142)!x34 =51467+8+9
112 x (3x445)=(6x7—8)x (VI)!

V9 x (—8+76) =5x (43—2)—1

)
V9 x (—8+476) = (5x4—3) x (2+10)
)
V9 x (—8476) :5+\/(¢47)!—(2+1)!!+0!

e 206
C(V9)! +8x7+6!/5=41x3>—-10

208
11423 % (4+5) = (—=6+7!/8)/V9
S (V9)! —8+7x6x5=4—31+210

210
(142 x3)!/4! =5x6Xx7x(—8+9)
1(12x3+4-5)x6=7!/(8x9)
C(1243144) x5 =6x7x(8—19)

e 210
(9487 -6+5 = (443! x21

:(=vV948) X 7 x 6 = (=5 + V4 x 3) x 210
(—V9+8)x7x6=5x (43—2+1)

28

210
19X (847)+6+5+4 =210
:9x (—8+7x6)—5!+4x 3! =210
:9 % (87 —65) +4 x 3 =210
:9x87—-6!/5x4+3 =210
. —9481/(7x6x5)+4!+3 =210
. -9+ 8+71/(6x5)+43 =210
:—94+8+4+76+5x (4'+3) =210

:\/—(\@)!!+8!+7—6+5+\/1x3:210

‘VI+8XT7+6!/5+4+3 =210
V9847 x6%x5+ V443 =210
V9+8 +71—6-5441/3 =210
:—@x7+6!+54+3 =210
:(9+8) x (—7 X 6+ 54) + 3! =210
:(9—8+47) x6+54 %3 =210
C(VON/(B+7)+6x (5+4)x3 =210
:(V9)! x 8 —7+6+5!+43 =210
:(V9x8—7)xV6!/54+V4x3 =210
19487 — 645! x (4—3) =210
211
:9—-847x6x5=4—-3+210
212
1 %23 x 445! = (6+7!/8)/v9

c—(VI)! +8+7x6x5+4 =231

0213

9+ (847) x V6I/5+41 =3+210
:—9+8+7x6x5+4 =3+210

: V98171 =6x (5+4!+3)+21
V9 + 81+ 7! =6x5"4+3x21
:V9+8+7! =6+5!+43x2+1
:V9+8+7! =6+5x43+2—10
V98I +7 % 6! = (5—4) x (3+210)
V9 4+ 8 +7x6! =5x43-2x1

o214
D —1x 24 31V4H5 = (6! —78)//9

S (—(V9)! +8) x (~7 — 6+5!) = 41/3! 4210
:(9—8+7x%x6)x5+4 — 31241
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e 215
i —1+(2+3)—4l+5!=6/+7—8"°
((9—-847x6)x5 =41x3 -1
:(9—8+7x6)x5 =+V4+3+210

198+ (7+6) x (5+4) =3 0!

c(1423) X (4+5) = (—6+78) x V9

0216

(1+2)8 =4x (5x6+7+8+9)
(1+2)8 =4x5x6+7+89
(1+2)° =44 V5047849
(1+2)8 =V4-5+6+V71+8+9
(

: (12 —3) x 4! =5Ix6—-7x8x9

0216

:—(V9)! 4+ 8+7x 6x5+4=31+210
(V94 8)!1+76+5x4 =321
:9x8x1\/V76+5 = (V4 x 3)%*1
:9x 8x1\/V76+5 = V4 x 34210
19+ 87 +6x5x4 = 3!+ 210

11/ (—=9+8+7)6 —5x432/10
11/ (—=9+8+7)¢ =54x (34+2-1)

0217

19+ 8+7645 +4 =31 40!

198 —74+6+5  =4x32+1

198 —7+6+5  =4+34210

198 —7+6+5x 4! =3 40

e 218

c(142)P4+V4 =514+6x7+8/(/N

198 x (7 —6) + 5! = V4 + 3171
198 x (7 —6) +5! = V43 4210
219
V9 % (84 (746) x5) = V& +31%F 40!

VI8 +71+6 = 54/3! 4+ 210

VI+ 8 +714+6 =5 +4 431711
e 220

c(142)P+4  =5+6/4+7-8"°

V9 x 8 4+76+5! =44 312+
:vV9 x 8476 +5! =4+ 3! +210

29

0221
12 x (=31 +4!) +5
S(9+8)x (7+6) =5x43+(2+1)!
:(9+8)x (7+6) =5+V4x34210
:(V9+8)+7x6x5=4+3140!

= (6+7) % (8+9)

0222
:9487+6+5=4x3+210
0224
225
:1x(243)x45 = (67 +8) x V9
:—9x ((8—7)—6) x5=((4!43!)/2)1+"
®226

:1+(243) x 45 = 678/v9
(= (V9)! +8) x (—71/6! +5!) = 4! x 3> + 10

228
V9% (87 -6—5) =41-314210
:V9x (87—-6—5) =54/3+210

V98 | x76 = (—5+43) x (2+1)!
230

(V) +8)/7+6+5! = Vax (34+2)—10

232
(VO — 8 x 76+ 5! = (—41 +311) /(24 1)

e 233
: 14234 =5-6+78x9
VI X8 XT7+65=(—4+31)/(241)+0!

0234

c—1x24+311/4+56="78x%x+9
01 x 234 =05+6+7+8)x9
:9x (8x7—-6x5) =4x314210

V98 _71x 6
VB _71 %6

= (5—-4+3)!+210

=5IxVvV4—-3x2x1
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e 235

: 14234 =5x (=6 x7+89)
:1—2x34+V4x5!=(61—7—-8)/v9

236

D=9+ (8! =71 /(6!/5) = VA4 x ((3+2)!—1-0!)
237

V9 x (8476 —5) = 4! +3+210

e 239

=1+ (2+3)!x V4 =5x6x(7-8+9)

(V9 +8)! —7+6+5! = (4+3)!/21 0!
(V948! —7+6+5=Vax (3+2) —1
19— 84+7x(6x5+4) =311/(24+1) 0!
198 —7+6!/5+4 =311/(2+1) —0!

° 240
:142344+5=6+78x9
C(142)11/3 =4+ (V50 —7) x (8 — (vVI)!)
S(142)1/3 = VA4 (5146 —7) x (8 — (V9!

240
S(VON/VEHT -6
S(VON/VB8H+T7 -6

=(5x(4-3))Ix2x1
=5 x V4 x 3+ 210

=9+ (8!=71)/(6!/5)+4=3!"/(2+1)
V9 x (847 +65) = (4+3)1/21
: V9 x (8 +7+65) =4 x3x2x10
/9 — 8746 x 54 = (31—2)! x 10

0241
(14 (243)! x V4 =5x(—6+7x8)—9
:(9—-8)70 45/ x4  =3I1/(2+1)+0!
(—V948)!14+7—6+5! = (4+3)!/21+0!

(V94847 —6+5 =Vax (3+2)!+1
0242

c(1+(243)) x V4 = (54+6!—7+8)/v9
S(—(V9)!+8) x (7—6+5!) = Vax ((3+2)!+1)
(=(V9)!'+8) x (7—6+5!) =V4+3!1/(2+1)

243

c(1+42) x3* =5x6!/(7+8)+V9
:(V9)! — 87 + 6 x 54 = 3210

: V9 x (87 — 6) =504+ (V4A+3)I+2+1
:V/9 x (87— 6) =5+V4x(3+2)!—1-0!
V9 x (87 —6) =54 x32/(1+0!)
VI8 +714+6x5=4+311/2+1)—0!
244

c(14+2)11/3+4  =V5047x (8+9)

:(V9)! x 8+76+5! =4431/(2+1)

e 245
c(142)°+4145 =6x (—7+8x (VI))
(V9! x8+7—6) x5=4+311/(2+1)+0!

e 246
123 x V4 =5 x 67 — 89
(V9! x8—7)x6 = (5x4+3)x2x1
S(V9)!'x8—7)x6 =5!4+4%x32-1-0!
5
V9 + (\/\/87—6> =432 _10
e 247

: V94 (847 x6)x5=(4+311)/(2+1) — 0!

*248
V9 x (87 —6)+5= (4! +3!1)/(2+1)
V9% (87 —6)+5=4x (3x21—0!

249

:98+74+6!/5=(4!'+3!1)/(24+1)+0!

e 251
:—94+8+7'x6/5!'=4x3x21-0!

°252
12x (=3+41)  =(5B+6+7)
=124 3! x 41+ 5! = (6+78) x

5
:9+< \/87—6) —4x3x21
V9 x (8 +76)

X (8+(V9)Y)
V9

= (5+4+3)x21

e 253
:((—V948)!1+7! x 6)/5! = 43+ 210

30
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254 °264
c—(V9) +8+ 71 x6/5! =42 _1_0! :(94+84+7)x6+5!=4x (3 x2—-1)
:(94+847) x 645! = 4! x (3—2+10)
° 255
265
=14 (2304 — 7
+(2-3) <(?+6)X +8) x V9 :(—9+8X7+6)x5=4+311/(2+1) +0!
(VI (847)+6)x5=4%2_1
266
L (V9% (847) +6) x5=432"1_0 *
:1x 243! x 41 45! = (6! +78)/v/9
* 256 1984+ 71/(6x5) =4¥2410
S ((V9)! — 8)7H075 = 4 x (3 x 21 +0!) 270
. 74+6—5 __ 43+2-1
(Vo)L - 8)Tr00 = 4 1x2x3x45  =6x(74+8) x VO
: (12/3)* =5x (=6+7x8)+(V9)! 9% (8—7) x6x5= (4 +31/2) x 10

VIX(8+7)x6 =54x(3+2)x1

:VIx (8+7)x6 =54+31+210
° 257

0278
. _ 14 — 1 '
14 (=2+3) 5+6!—78x (VO)! VO T8I F 71+ 65 =41 x 31 x2—10
V948471 x6/5 =421

0279

: V94847 x6/5 =421 Lo
:V9x (8746) = (5+4)x (32—1)

1 V9 x (87 4+6) =54 4% 4210

® 280
1 (98 —-7x6) x5=(—4+32)x10

e 258
(V9! x8+7x6x5=43x% (2+1)! x 0!
(V) X 84+7x6x5=43x (2+1)!

° 282
© 259 :1243!x45  =6x(7x8—9)
194 (8X7—6)x5=43x (2+1)! 40! (—948x7)x6=(5!+4—-3)x2x1
:(—9+8xX7)x6=>5!+ (4 +3) x (2+1)!
* 260 L —98+76x5 =41x3+210
c(142%) x4 =5x6x78/9
° 284
198 +7 x6+5! = V4 x ((3+2)!+10)
V9 % (8746) +5 = (4! x 31 —2) x (1+0!)
*261 ° 286
V9% 87 =6x5+4 —3+210 (V) + (81 =71)/(6+5!) =4 x 31 x 2 —1— 0!
V9 x 87 =6x54—3x21
V9 x % 5 ¢ 287
P VO X 87 = 645! x V4—31+21 L 142x3Ix4 = (5x6+7)x8—9
VI x87=6+5+(V4+3)*x 10 (—94+8XT7)X6+5=4x3x2—1
. _ 140!
V9 x 87 =65+ (4 x3+2) . 288
0263 112 x 34 — 5! =6!/(7+8) x (V9)!
V94 8+71%x6/5! =41 x (3 x2—1) —0! (9% 8) x (=7+6+5) =4l x3!x2x1
S(9%8) X (=7+6+5) =4 x3x (2+1+40)
s C(VO/(B+7)x6 = (5+4)x32x1
1+ (2+3)! x4l =(5+6) x (7+8+9) c(VO/(84+7)x6 = (5+4)x32—140!

31
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* 289 321
19+8x%x71/(6!/5) =4!x3!x2+1 19+ (8x7+6)x5+V4 =321
290 1 V9 x (8 x (746) —5) +4! =321
(=V9+8) x (=7 +65) = (41 +3+2) x 10 VI8 (7+6)+5+4 =321
*294 : V9 x 87 46 + 54 =321
c1+2x3Ix4l+5 =6x 75 (VO

S (V9)! x (81 —71)/6! = (5! + 4! +3) x 2 x 1 322

L (V9)! x (81— 71)/6! = (5+ V&) x (324 10) : —98 +71/(6!/5! x V4) = 321 4 0!
¢ 300

((1243) x4x5  =6x(7x8— (V9 *323

1 (948) x (74+16!/5) = V4+321

c(94+8—-7)x6x5 = (—v4+32) x 10
( ) ( ) :(—V94+8x%7)x6+5=4+321

S(V9)!I x (847 x6)=5x (4+3!) x (2+1)!

(VI X (8+7x6)=5x4%—-2x10 324

*301 :12 % (3+4!) =5x67—-8—19
P94 (8x746)x5 = 43x ((2+1)!+0!) L9 % (=8 —76-+51) = (41— 312 x 1
* 306 19 x (—8—76+5!) =4+32x 10
S(142)!x (31445) = (6x7—8)x9

:(9+8)x (7+6+5) = V43114210 325

19X (—8+7x6) =(54-3)x(2+1)! :(—V9—8+76) x5=4+321
19X (—8+7x6) =504 (4+31)/(2+1+0!)

¢ 308 ® 326

19847 x 6x5=4—31142 V9 x 87 4+ 65 =4+ 321 + 0!

e 311

:—9+8x7!/(6+5!) =4! x (3! x24+1) — 0! 327

0312 C—94+8x7x6=(5—4)x3-21
xR xA+5 = (647) x8x 0 1 —9+8x7x6=5+V4+32x10

VI X 8x (7+6!/5!) =4 x (3! x2+1)

¢330
gi:iEZiZ;/5|);§'xX4(33‘+/§ig) S(142) x (=31 —4+5!) =6 x (7+8 x (V)
Vais :—(V9)!4+8x7x6 = (5—4+32)x10
V94 (8X7+6)x5=4x (3! x2+1)+0! (VOB XT X6 =543
°314 333
:—(V9)! +8x71/(6+5!) = (—4!+31)> — 10 : —12 4345 —6x7%x8—9
*320 C V948 X7 x6=(5+4)x (3%+1)
1 (9+87)/6 x5 x4 =32x10 V948X 7 x6=5+4— 3114210
c— (VO +8+7x6!/5+4 =32x10 o4 8 %7 x6— 543 — 210
t—(V9)! x 87+ 6! +5! + V4 =32 x 10
c(V9)! 4+ (8x746) x5+4 =32x10 335
(—V9+8-7)° x5 =43/2x10 ( (=142 x34) x5=67x (8—9)

32
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336
. (1423)/4 x 56 =7x8x (/9)!
1 (V9)! x 8 x 71/6! = (-5+4!-3)x21
:(V9)! x 8 x 7!/6! =5x 4! 43! +210
(V9! x 8 x7 =6x54+(3+2)!/10
S (V9)!I x8x7 =6+5+4+321

V9 x (=84 (7 —6) x 5!) = 4! x (31 —2+10)

339
:—(142)1+345=6x7 x8+9
V9I4+8x7x6 =(51—4—3)x (24+1)
VI 8xT7x6 =54 (4 —3)2 410

342
:—1—2+345 =6-+7x8x% (V9)!
(V9! x8x7+6 =5—41+3!1/2+1
:(V9)! +8! x (7—6)/5! = (44+3)*1 0!
c(V9)! +8x7x6 = (54+3) x (2+1)!
(V9! +8x7x6 =5!4+4x 34210

343

:—1 %2+ 345 = (6—7+8)"°
V94 (—8+76) x5=(4+3)2H1

*344
:V9+8x7x6+5=43x (—2+10)

e 345
1% x 345 =6x7x8+9
194+ 8x7x6!/5 =4!+321
1948 x7x6!/5 =4!+321

194+8x7x6 =5+ (V4+32)x10
(94+8x7x6  =54x31+21
® 346

S (V9)! 4+ (—8476) x5 = 4! 4321 +0!

e 347
(V9! x8x7+64+5 = (—4!+311)/2 -1

® 348
124 311/V4
VI X (8 X7+ 6! x5) = (—4!+3!1)/2x 1
V9 X (8x 746! x5)=(—4+3!1)/2-10

= (=5!/6+78) x (V9)!

33

® 349
194 (—8+476) x5=(—4!+3!)/2+1
19+ (—8+76) x 5= (—4!+311+2)/(1+0!)

° 350
:98+7x6!/(5x4) = 311/2—10

e 351

(9% (=87 +6+5! = (V4+3!1)/2-10

e 352
19+ (8!+7!/6)/5! = sqrtd +3!1/2—10

e 353
:—9—-8+76 x5 = 44+31"/2-1

* 354
(12431 /V4 = (=5+6!—7)/(8— (v9)!)
c(V9+8x7)x6=(—5l+443!1)/2x1
11 x 234 + 5! =6x (7x8+419)

e 355
(94+8x7x6 = 5+ (V4x3)!/2-10

e 357

:—1—24311/V4=5x (—6+78) -9
:—98+7x65 = (—4+3!1)/2-1

*358
(98476 —5)x V4  =311/2-1-0!
:(V9)! +8x (=76 +5!) = (—4+3!1)/2x 1
S (V) +8x (=76 +5!) = (V4x3)!1/2—1-0!

e 359
:1-24311/V4 =5x67+8x%x19
C(V9)!I x8Xx7—645+4=3!1/2x1-0!
t(V9)! x8x7—6+54+41=311/2-1
:(—V9+8) x (76 —5) +4 =3!1/2 -1
1 —98+7 X 65+ V4 =311/2-1

e 359
c(V9+8x7)x6+5=((V4x3)!—2)/(1+0!)
:(V94+8x7)x6+5=(V4x3)/2-1
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360
(124 3) x 4! =5'4+6+78x9
01 % 2% x 45 = (64+7—8)! x 9
:1x234+5+6 =71/(8+ (V9))

1 (9% (8—7)—6) x5! = (4+32) x10
:(—=9+8+76)/5x4! =312x10

VI X (—=8+7+6)! =5x4x(—3+21)
(9% (8—7)—6) x5! = (V4x3)1/2x1
:VIx (—847+6) =54/3x2x10
:—VIX8+76x5+4=3!1/2x1
:—VIX8+76x5+4=23%x10

360
VI (—8+(7—6)x5!)+4 = 311/2x1
361
19+ (87+6—-5)x4=311/2+1
19+ 8x (=7645!) = (4+3!1)/2-1
:94+8x (—76+5!) = (V4x3)!/2+1

® 362
:—V9+8x7x6+5+4 = 311/241+0!

363
:14+24311/V4 =5x%x (—6+78)+9
:—9—8+76x5=4+311/2-1

e 364
(V)1 48)/(7!/6! —5) =4+311/2x 1
(VI +8)/(7!/6! —5) =44+ 312x 10

® 365
:(9x847—-6)x5 = 4+3!1/24+1

366
(142! +3 x4 x5 =6+7!/(8+ (V)
D(1243!1)/V4 =5x (67+8)—9

:—(V9)! — 8476 x5=4+3!1/2+1+0!
14+ (2x3)!/VA+5 =64+7!1/(8+ (VI))

® 368
S (V9 +8x (76 —5!) = (—4+3!1)/2+10

® 369

V9% (\/V87—6+5!) = (—V4+3!1)/2+10

¢ 370
: (V9)! x (87 —6) —5! 44 =3!1/2+10
:—(V9)! +8x (7x6+5) = (VAx3)!1/24+10
:—V9 x 87+6+5% =3!1/2+10

e 371

P — ( v@) +76x5=(4+3!1)/2 -1
;- ( \/97%) +76 x 5= (V4+3!1)/2+10

e 372
(V) +8x7)x6=(5+4)x3x (2—1)
(V9! +8x7) x 6 =54 x 34210
V9 x (84+76)+5 = (4 +3!1)/2x1
1 V9% (8476)+5! =\4+311/2+10

e 374
c VB +7x65 = 414+311/2-10

e 377
S (V9)! x (8x746)+5 = (4! —3!) x21—0!

e 378
S (V9)! x (8! 471)/6! =54/3 x 21

: ( @) X7x6=5+ (4 +311)/2+1

379
£ —94+8+476x5= (4 —31) x 21 + 0!

*380
1 (9—8) x76 x5=(V4+3%) x 10
(—V9+8)x76=5x4+3!1/2x1
:(—V9+8) x 76 =5x V4+3!1/2410

382
:—(V9)! +8+76 x5 = 41 4+3!1/2—1—0!

383
:—9x84+7x65=41+311/2 -1
:—9Ix84+7x65=4>x (2+1)!—0!
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e384
112 x (344! +5) =6l —7 x 8% (V9)!
:(V9)! x8x (7+6—5) =4 x3x V210
(V) x8x (74+6—5)=4>x (2+1)!

:—(V9)! x8x7+6! = (5+43)x (—=2+10)

* 385
:(9—8+476) x5=41+3!1/2+1
:(9—8+76) x5=4>x (24 1)! +0!

¢ 386

V98 [14+76 x5 = 414311/2+1+0!

¢ 390

$(948x7)x6 = (5!4+4+3!)x (2+1)
e 392

14+ (243 /VA+5x6 = 7x8!/(v/9)!
e 394

(V) +8+76x5 = 4! +3!1/2+10
¢ 396

: =94 (87—6) x5 = (4! —3!) x (21 +0!)
0408

:12 x 34 =(5+6-7)!x(849)

S (V9)! x (—8+76) = (5! —4! +3!1)/2x 1

: (V9)! x (—8+76) = (54 — 3) x (—2+10)
410

c(V VB +7—-6)x5 = (43—2) x 10
414

=1+ (243 x5=6x(78-9)

194 (87 —6) x5 = V4x(—3+210)

o416
S (=(V9)! x 8+71)/V6!/5 = V4 x 31l — 210
0420

112 x (3+4) x5=6x%x71/(8x9)
198/7x6x5 = (41—3)x2x10

0422
:—(V9)! +8+7!/V6!/5 = 432 —10

0426
c—(14+2)!1+3%x (41 +5) =6 x V71 —8+9
(VO 4+ (8476) x5 =+/4x (3+210)

° 430
S ((—V9+8)+71)/V6!/5 = V432 x 10

0431

:—VI9x8+7x65 =432 -1
VI8 7Ix64+5=432-1
0432

D(14+2x3!) x4l 45! = (=6 +78) x (VI)!
:12%/4 =(5-6+7)x8x9
c(V9)! x 8 x V76 +5=432x1
S(V9)! x 8 x V76 +5=432x1

19 x 81/7Ix 6 =5!x (4+32)/10
19 x 8!/7! x 6 =54 x (32 1)
433
19 —8x (76! x5) = 432+1
0434

S (V9)! +8+7x V6! x5 = 432 +1+0!
e 440
: (\@+8> X 71/(6+5!) = (41 —3)% —1

: (\@+8) X 71/(6+5!) = 4 x ((3+2)! — 10)

o441
19 x (8! —7!)/6! = (5+4+3! x 2)1*0
19 x (8! —71)/6! —5x 4! +321

=94+ (847)x6x5=(41—-3)x21
0444

:< @—7) X6 =5+ (—4!+31)2x 1
:( @—7) X 6= 5!+ 44321 40!

° 450
c(142) x (B1+4) x5=(6x7+8)x9
:(9+87—6) x5 = (4342) x 10
29 % (847 x6) =50 x4—32x10
:9x (8+7x6) = 5!+ (4! +3%) x 10
9% (847 % 6) =5V4 % 3Ix (2+1)
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e 451

S(V9)!'x8—7)x (6+5) = (4 —3)2410
* 455

1(9—-8) x7x65 = 4l x \/3!1/24+1—0!

® 456

V98 |1 x 76 = (=5 +4!) x 3 x (—2+10)
V98 | 1x 76 =5!x4—3-21
: V9 x (87 4 65) = 41 x (32 4 10)
V9 x (87 4+ 65) =40 x/3!1/24+1
e 459
:—14+23x4x5=6x78—9
:—V/9 x 87+6! =5!x41/31—-21
° 462
((142)x (34+5!)  =6x78—(V9)!
c(V9+8)x7x6 =5!x4+3-21

V9 x (—8+7x6+5!) = (4 —3) x (21 +0!)
0465

((12434) x5 = 6x78-9

* 468
(123 —45) x6 =78 x (V9)!
:(—9487)x6 =5'x4-3x2x1
:(—9+87)x6 =5!x4—3x2x (140!

:9x (8=76+5!)=4x (=3+(2+1!-01"
0470

:<¢¢%+7+6>x5::4x@+2ﬂ—m

o471
C—124344x%x5! = 6x784+19
0472
{94+ 8+7x65 = 4x ((3+2)!1—1-0)

0474
:—1x2x34+4x5!'=6x%x(7+8x9)

:(9x8+7)x6 =5'x4-3-2-1
:(9%x8+4+7)%x6 =54+ (5! —4) x3+ (2+1)!
S(9x8+7)x6  =5l+41x3!+210

0475
S (=948x (7+46)) x5 = 4x ((3+2)!—1)—0!
0476
S(—1+(243)) x4 = 5+6x78+9
0477
t—V9+81/7 x V6! x5 = 4x ((3+2)! —1)+0!
0478
198 4+76x5 = 4% (3+2)1—1—0!
0479
i1+ (2+43)Ix4 =5+6+78x% (v9)!
(9x8+4+7)x6+5=4x(3+2)!—-1

¢ 480
:1x(2+43)!'x4 =5!/6x(7+8+9)
:(94+8—-7—-6) x5! =4x (3+2)! x1
:(94+8—-7—-6) x5! =4x3!'x2x10

481
114 (2+43)! x4 = 56 x 7 + 89

0482
C— (V) +8x76 -5 = VAx (311/(2+1)+0!)

* 483
V987 x V6! x5 = 4x ((3+2)!+1)—0!
0484
:—(V9+48) x (76 —=5!) = 4x (3+2)!+1)

¢ 485
L (98—7+6) x5 = 4% ((3+2)!1+1)+0!

* 486

((1+2)! x 3 = (-5+67—-8) x9

(1 x2x3+4x5!=6x (78+19)
486

:(V9)! x (87 —6) =5+4x (3+2)1+1

:(V9)! x (87 —6) =54 x (=3+2+10)

S (V9)! x (87 —6) =54x3%x1
e 488

c— (VO +8x (7+6!/5) = 4x ((3+2)!4+1+0!)

° 490

198 % (7—-6) x5 = (4+3)2x10
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492
1 x2x34+4x5!=6x(=7+89)

(124 311/VA+5! =6x (—7+89)

:123 x 4 =54+ (647 x 8) x (v9)!
:123 x 4 =V5X6! x7+8x9
* 500

:(VIx84+76)x5=4x (3 x21—0!)

e 503
OX8X7—-—6+5=4x3'x21-0!

* 504
(=1+23)V44+51/6 =7x8x9
112X (3x4—-5)x6=7%x8x%x9
212 x (—3+445) = (6+78) x (v/9)!
11243144 x5!4+46 =7x8x%x9
e 504
—(V9)! x 8 x 746! +5! =4 x3! x21
:(—V9+487) x6=5!x4+3+21
: (—V9+87) x 6 = /5! +4l x (32 +10)
° 504
:9Xx8x7=(6-5)x4x3!'x21
:9x8x7=(6+5! x(—v4+32+10)
9Ix8x7=6x(51—4—-32x1)
19X 8X7=6+5x4-3+21
19X 8x7=6+5!4 (4! —3!) x 21
(9Xx8x7 =65+ (4—3)2—1-0!

* 505
S (=V948x% (746)) x5=14x3! x 21 + 0!

e 507
—VO9 48+ 746! =5! x 443! +21

510
:(142)x34x%x5 =6+7x8x9
1 (9x8x7+6)x (5—4) =3I1-210
:(9+87+6) x5 = (V4 x 3)! =210
—(V9)I +8VV7ES 14 =311 210
:OX8 X746
:OX8 X746

: V98 x (7—6+5)+4 =311 -210

= (5—4) x 311 =210
— 5 x (—4! + 3! x 21)

o511
P14 2VAHS — 674 8Y9
—1+42Y%  =5%(6+7)x8—9
o512

c(1+2¥ +4) x5+67 =8Y°
:(—=1243!1)/4+5x 67 =8Y°
: (1243 x4) x5+56 x 7 =8"°

L (V12/3)4+5 :(—6+7)><8\/§
:1x2V3 = (5x6/(7+8))°
:1x2+3+4xV56+7 =80

o512

(= (V9)! 4 8)V7645 = 43 % (—2 4+ 10)
(= (VO)! 4+ 8)VTETE — /4% x 1

¢513

:142V3 = (56—7+8) x9

19 % (87 —6x5) = V4% +1
L9487 x6 =5!x4+32+1

L —9487x6  =5-+4x (3 x21+0!)
¢519

11423V L g =74 8Y9

:—V9+87x6 = (5+4)°-210

:—V9+87x6 =5+4+311—-210
* 520

:(9—8+47) x65=4x ((3+2)!+10)
e 522

:(142)x3!'x (4145)=6x%x (78+9)

L (V9)! x 87 = (6 — 5) x V4% + 10
1 (V9)! x 87 = (6+5!) x4 —3+21
:(V9)! x 87 = 6! + 54443 — 210
S (V9)! x 87 =6x5+4x (3+((2+1)—0N!)
c(V9)! x 87 =6+5! x4 +32x 1
1 (V9)! x 87 =6+ 5! x 4+ 3 x (2 +10)
L (VO)! X 87 = 6+5+ V4% —1
: (V9)! x 87 = 65 + 4! x /3!1/2+ 1+ 0!
*525

V9487 x6=5x (V4+3) x21
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° 527
c—14+2x (3! x4 +5!) =67 x8—9

*528

: (V9)! x (87 4+ 6 —5) = 4! x (32 — 10)

:(V9)! x 87 4+ 6 =5!+4! x (=3+2x10)

1 (V9)! +87 x 6 = (5x4+43)*>x1-0!

1 (V9)! +87 x 6 = (5x4+3)2-1

e 529

:1x 234 =5x% (64+7) x8+9

529

:94+8x (7+6)><5:(4!_3+2)1+0!

¢ 530

1423V =5+6+7+8Y°
e 531

19487 x6=>543—-2—10
533

:(=1+23) x4 +5=67x8—19
534

1x28V 45 = (—61+71)/8— (V9)!

(9X8X7+6x5=41431-210
539

c—142x3!x45 =67 x 8419

e 540
:1x2x3!x45 =6 x (7+8) x (V9)!
c(VI+8+7)x6x5=(4+3)x2x10
1 (V9+87) x 6 =54x(3-2)%x10
:(V9+87) x6 =543-2—1

e 543
c =142 +4 x5 = (—6!+7)/84+V9

e 545

c(142)!!%x3/44+5=67x8+9

° 546
(98 —7) x 6 = 5! + V4 x (34 210)
(98 —7)x6=543+2+1

e 551

c—1423x 4! =54 (—6!+7!)/8+ (V9)!
(98 —7) x6+5=4!x ((31—2)!—1) — 0!

38

e 552
:1 % 23 x 4 =5!4+6x (78— (v/9)!)
12 x31+4x5  =61—7x8x%x+9

S (V) x 87+ 6 x5 =4l x ((3!—2)! —1)
:(V9)! x 874+ 6 x5 =41 x (3+2 x10)
C V9 x8x 746! = (5!+432) x 1
:—VIOx8x7+6! =5!4432x1

e 553
198 +7 %65 =4l x ((31—2)! —1) 40!

e 558
:1+23><4!+5:(6—|—7><8)><9
:9><(8><7—1—6)=(5!—4!—3)>< (2+1)!
:9X(8X7+6)=(5!—4) X 3+ 210

e 560
:(l—|—2><3)!/(4—|—5):(6—7+8)!/9

® 566

AV V9 X7 —645=(4x3!)2-10

©567
19x (814+71)/6! = (5+4)x3x21
£ —94+8x (74 65) = (4! +3) x 21
S\ V98 x 7 = (65— V4)x32x1
SV x 7 — 6! — (5! —43) x2+1
A/ V98 x 7 — 645! x V4321
A/ V98 x 7 —6+5*—3x21—0!
e 573

V98 X 746="5+ (4 43) x 21 40!
574
:(V9)! +8 % (76 —5) = (4 x 31)2 =1 —0!
575
P14 (—2430)! x 4 =56+ 7487

°576
L (1+23)V4 = 56/7 x 8 %9
112 x (3 +45) =6x (7+89)
L (9+87) x 6 = (51— 41) x (3+2+1)

:(V9+8—7) x6!/5=4x (3+21)
:9 — 87+ 654 = (3! —2)1t+o
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©577
14+ (243! x4 =vV/-5+6+7'x8+9
:94+8x (76—-5) = (4x3)*+1
:94+8x (76 —5) =4!x (3+21)+0!

e 578

V8 X 7+ 6+5=4lx (31 —2)I+1+0!

e 582
1 ((V9)!1/847) x 6 = (5! +4) x 3+210
(VON/8+7)x6 =5+ (4x3)2+1

¢ 585
((142x3!)x45 =6/ — (7+8) x9
t—9X (847)+6!=5x (—4+(3+2)! +1)
:—9x (84+7)+6! =544+ (3 —2)t+0

e 588
:((V9)! +8) x 7 x 6 = (V54 +3) x 21

¢ 592
S ((V9)! —8) +6! =5*—32 -1

¢ 593
C—(—V948) —7+6!l =5 —32x1
C—(—V9+8)! —7+6! =5 —32+1-0!

¢ 594
19 % (8—7+65) = (4 +3) x (21 +0!)
¢ 599
t—94+8x76=5x4lx (3+2)—1
:—94+8x76=V5x (31 —2)1—1

¢ 600
12 x (3! 44) x5 = 6! — ((7+8)/V9)!
(V) —8+7)1+6! = (54+3x2) x 10
(V9)! —8+ 7)1+ 6! = V5 x (3+21)
: (98 —7) x 6+ 54 =31 — ((2+1)! —0!)!
(VX (8=7)/6 x5 =41 x ((3! —2)!+1)

—(
—(

° 600
C—(—V9+8) =7+ 6! +5+ 4
=3Il — ((241)! —0!)!

(V)< (8—7)/6%5
= (VA+3)Ix (2+1)!=0)

39

e 601
t—(94+8) x7+6!=5x4'x(3+2)+1
:—(9+8)x7+6!=5*—-3-21

:—(948) x7+6!=5—4-+311—((2+1)! —0!)!

* 602
:—(V9)! +8x76 =5 -3 -2x10
* 604
:—9+8x76+5=(4+3!)— ((2+1)! —0!)!
® 605
:—V94+8x76=5x ((V4+3)!+2—-1)
:—V9+8x76=5x (4! x (3+2)+1)

e 607
C—(—V948)! +7+6! =5 +3-21
c—(—V9+8)4+7+6!=5"—31-2-10

e 607
:—(=V9+8)! +7 +6!

=5+v4+31— ((2+1)1—0N)!

o611
:V9+8%x76=5x ((V4+3)!+2)+1
‘V9+8x76=5"+31-2x10

612
9 x (—8+76) = (54 —3) x (2+10)

e 614
(V) +8x76=5"—3Ix2+1
S (V9)! +8x76 =5*—34+2-10

615
: 98 —74+6! =531
1 —98 — 746! =562 _10

e 617
:94+8x76=5"-3>+1
19+8x76=5"++/3-2-10

° 620
1 =98 —7+6!+5=(4>-2)x 10

e 621
c =123+ (445 x6=71/8—9
cV123VEx5+6 =71/8—9
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(—(V9)! —8) x 746! =5*—314+2+1
((—=(V9)! =8) x7+6!=5"-3+21x0

623
t—(1+2) x34+5+6!=7x89
(VN8 —74+6 =5'—-34+2-1
c—(V9)1/8—74+6! =-5-v4+3x210

® 624
c(1423) x (—4+5%x6)=7!/8—(19)!
c =14+ (2+3)* =5!x6—7—89
: =9 — 87+ 6! =5'x(3-2)—1
1 —9 — 87 +6! =54+32-10

0 625

I1x (243)P=5%x(6+7x(84+9))
626

(14 (2+43)* = (=56 +7!)/8+9

14+ (2+3)t=5+6!x7/8-9
0627

t1x23+4-51+6!=71/8—9

® 629
t—1+(2+43)*+5=6+7x89
: —98 + 7+ 6! =5'+34+2-1
:—98+7+6! =5+4! x (312 -10)

£ —9—87+6!4+5 = (4+3!) x 21 — 0!

¢ 630

1x (243445 =6/ — (7+8) x (VI)!
:(9+87) x 6454 =3 x 210

1 (98+7)x6 = (544 3%) x 10
1(9847)x6  =5xVAx3x21
:(98+7)x6 = 5+ (V4 + 3)(1+0)
C(VO)/8x7  =654—3—21

19X 8X7+6+5!=(41431) x 21
19X 8XT7+6+5!=(4+3)!/(—2+10)
:—9—8—7+4654 =3 x210

* 630
c—(V9)!1/8 — 74+ 6! + 5+ V4 =3 x210
1 (V9)! x (87 —6) +5!+4! =3 x210

® 632
c =\ V9 —74+60 =50+ V4P x 1
c oAV — 746l =5 +314+2 -1

e 633
t—1x23x44+5+61=71/8++9
142V3 151 —6l—78—9

e 634

=98 +7+6!+5=4+3x210

® 636
11X 2434 —5!1+6! =71/8+ (VI)!
1124311 +41—5!  =6!—78—(V9)!
V9 — 87 +6! = 5! +43 x (2+10)
V9 — 87 46! =5 4+31x2-1

® 637

c—(VON/8+ 746! =5+ /31—2+10
:—(V9)!1/8 47+ 6! = =5+ V4 x 321
° 638
1 (=1423) x (4! +5) =6/ +7—89
* 639
c 1422 x5 =6!x7/8+9
:(V9)! —874+6! =5x4x32—-1
: (V9)! — 87+ 6! =5+4+3 x 210

° 640
S (—(V)1+8+71/6) x5 =4 x32x10
° 641

(1423 x5 =6!—7—-8x9
:—9Xx8—74+6! =5x4x32+1
t—9x8—7+6! =5"4+3x2+10

V9 —87+6!+5=14x321 0!

e 642

:9—874+6! =5x4x324+1+40!
19— 87+6x5 =+4x321

° 643
:—(V948) x 746! =5*—3421
:—9x81/714+6! =544 x321+0!

40
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° 644 ° 665
c (V) —87+6+5 =4 x (321 +0!) :—(V9)! x8—7+6! =5+ (42+2)x 10
e 645 667
(12 x5 =6471/8+9 1% 23% (4145) =6l —7x8+/9
* 646 V9 —8x746! =5*+32+10
:—@+7+6!:5x43><(2+1)+0! 670
:—@+7+6!:5‘W3‘+21 :(V9)! —8x7+6!=(5+4%—-2)x 10
.6~497— 87 4+ 6! +5 = 4! x 31 (! st
' ' ' ‘ i —1423 x 41+ 5! = 6! 4 (7! — 81)/(v/9)!!
* 648 : =1+ 23 x 41+ 51 = 61 — 78~ (VO)!
c(142)P% x4 = (5x6478) x (VI)!
c(1+2)° x4 =5+6—-7x(8+19) *672
14233151 —6— 78+ (VO)!I :1x 23 x 41+ 5! =678 — (V9)!
:12x 3! % (4+5) = (—6+78) x 9 11 % 23 x 41+ 5! =678 — (VI)!
c—9x8!/71+6! =5*4+3+2x10 (V) —81/71 x 6 = (5+4!+3) x21
19 x 8xV76+5 =4l x (31+21) C(V9)! x (8 x (=7 +6) +5!) =4l x (321 +0)
19X 8% V76 +5 = 4! x 3%H!
673
* 649 1423 x4l 4+5!=61—7x8+9
:1x 23V 4 51 —6l—V7T—8+9
:(VI+8x7) x (6+5) =5 +3+21 *675
VITEETI46 =41 x 3 40 :(12+43) x 45 = (6748) x 9
: —V9 x (8+7) +6! = V5 x 321!
° 650
:1+23V4 450 =61 —71/(8x9) * 678
o654 S ((—V9+8)! —7) x6+5x4 =3Il —21—0!
1 (V9)! x (8 x (7+6)+5) = 4! +3 x 210 679
° 655 :—(V9)! x847+6! =5—41 431l —21 —0!
c =1 =2+ (VA5 = ((6!+7) — (8 x9))
. 9x 84746l —5'132-1-0! * 680
198 X7 =6+5x4x(324+1+0!
° 658
c—(V9)! —8x7+6l=5"+32+1 * 684
. 660 12 3% (41 —5) =678+ (v9)!
P —9X8+7+6+5=(4>+2)x 10 : ( @) X 76 = (—5+4!1) x 32 x 1
° 661
Vo8 x 746l =543 x1 :( @)x7654+3x210
:—V9—8x 746! =5 +3x (2+10)

41
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® 686
198 x71/6! = (5+V4)} x2x1

(98 X7 =6x5—4+(2+1)!

198 x7  =6+5+(4+32)x10
198 x7  =6+5—414+311-21

198 x 7 =654+32x1

:98x7 =46l x5—443x210

° 688

: (VO)! +8!/(=71/6+5!) + 4! = 311 — /210
19X (87 —6—5)+4 =311 — /210
i —VIX8—T746l—-5+4  =311—-1210
° 689

t—142x345=6!-7—-8x9

° 692

(98 X 7+6=4+31l—210

198 X 746 = 5! —4 4 (3! —2)1110
* 695

(V) +(8—7—6)x5=—4+(3x2)!—1
° 696

S(V9)! x 8 x (=7 465)/4=3!1—(241+0!)!

:—9—8—7+6! = (5+4!) x (3+21)
® 698

19 x8+7—6+5 =311 210!

P —VIX8—7+6!+5+4=3I1-21-0!
699

(VU +(8—7—6)x5+4=3I1-21

t—(V9)! x84+ 746! +5x4=31-21

:(V9)! —8 X 7+6!+5+4 =3I1—-21

= (V9! —8—7+6x5 = (Vax3)—21
e 700

:(9487) x 645!+ 4 =311-2x10

(9847 x6) x5 = (V4x3)!—2x10

t (V) =8 x 7+ 16!/5+41 =31l -2 x 10

198 X7 —-6+5x%x4 =31—-2x10
702
:1x2x (3454 6) =78x9

c(142) x (=3!+V4x5!) =6l —7—-8—+/9
c(12-3!) x (—4+5!)+6 =78x9
: (V9)! x (87 46 x 5) = V4+311—-21+40!

42

e 703
:—VIX8+74+6!=5—-41+(3x2)+1+0!
o 704
:—(V9)! =8 —7+6!+5=4+3!1—21+0!

: ( @) ~ 746! = (V5+4)! +3!I1—21-0!

: ( ﬁ*) — 746! =54 (V4 x3)!-21

e 705
(V9 —8—71/6! =5 + (31 +2) x 10
e 706
1 —98/7 + 6! = 5! 4 (4 x 3!)2 410
:—98/7 +6! =54+ V4+31l 21
708
c 124311 = (—4+5) x6+78x9
D12 431 =41 + 546! +7 —8 x (V9)!
D 124311 =41 —54+6!—7—8x9
D 12431 =445+6! -7 —8— (/9)!
P 12430 =V4+ (5-6+7) —8— (VI)!

708
: 124311 +4x5 —6/4+7—-8+9
: (9+876)/5 x 4 =311-2-10
V9 —-8—7+6! = (5+4)°-21
:V9—8—7+6! =5-+4+4311-21
t—(V9)! x 847 +6! +54+41 =311 —2-10

710
: 124311+ V4 =5!x6+7-8-9
98 X 7 X (6 —5) 4 4! = (3x2)!—-10
:—9—8+7+6! =5x (4! x31—2)x1
:—9—8+7+6! =5xV4+311-2x10
:98—7—6+5" = (3x2)!—10
c—\/ V98— 7146l +5+4l=(3x2)!—10

°712
D 124311+ 4 =56/7 x 89
(V9! —81/7! =6!+5-4-3>x1
S (V9)! 4+ 87 —6+5*=311+2-10
i —948—7+4+6! =5-4x3+(2+1)1—-0!

:—VIx (8—=7)4+6! =5+ (VAx3)!+2—-10



Inder J. Taneja

RGMIA Research Report Collection, 20(2017), pp.1-57, http://rgmia.org/v20.php

o713
—(9-8) x74+6!=5—-4x34+(2+1)!

0714
:(94+8)x7x6 =05+4-3)!—(2+1)!
:(94+8) x7x6 =5—4+431—-(241)!-0!

:(9—8—-7)+6x5 =4+ (3x2)!—10

0714
— (V) +8—7+6—5+4=311—(241)!
c(V9—8) x746!4+5+4 =311—(2+1)!
9 X 87 —65—4 =3Il —(241)!
0715

— (V! +8—-7+6! =5+ (vV4+32)!—10
(9% (84+76—5)+4  =31!—(2+1)!+0!
(9% (84+76—5)+4  =3I!—(2+1)!+0!
©—9—8—746—54+4=3Il—(24+1)!+0!

716
C 99X (8—7)+6!+5=(V4x3)!—-2-1-0!
198X 746x%5 — 443114210

0717
c—1—24311 =4+5!46!—7—(8—19)!

P 124311 = V4 x5 +6x784+9

0717
((—9+8)x7+6x51+4=311-2-1
:—9 x 8+ 765 + 4! —311-2_1
A/ VB XxT74+6+50+4 =311-2-1

0717

£ =94 8—7+6/+5=4+311—(2+1)—0!
:—VIX (8—7) 46! =5— V43 + (2+ 1)

e 718
c—1 X243 =4145+6/—7—8x 9
i —1x2431=4+5/x6—7—8+9
f—1x2431=45+61—7x8+9

P o1 X243 =V45 —6x7+8+ (VI
t 1 X243l =(—4+5)x6!—-7+8—9

o718
—(9-8)x746!/+5=(v/44+32)!—1-0!

43

C (V) —8+7
(V) —8+7
(V)1 —8+7
:(9+8) x7x6+5=(v/4+32)! x 10!

(V) —8+7

o718

:(9-8)7 x (6! —=5)+4 =(3x2)—-1
:(9—8—-7)+6x5'+4 =311-2x1
:94+8476+5% =311-2x1
1 —98/7+6!+V5!+4  =3I1-2x1

c—VIX8—7+6145+41=31—2x1

I9x8—-7+6!+5+4=3!-2x1

: V9 —8l/71+614+5+4 =311—2x1

e 719

:—14+(2%x3)! =4x5!/6+7/8+9
=1+ (2x3)! =4+ (5+6)x (7x8+9)
c—14(2x3)!  =4+5!x6-7+8—(VI)!
1 —24 3! —4145x% (67+8x9)
:1—2+3l —4x54+6/—7—8—(/9)!
:1—243! —=4x5-6-7—8+ (Vo)
1 —24 3! —445+4+6/4+7-8-9

c 14+ (V2+34)! =5+6x7x (8+9)

o719

e 719

14243—-V4-5+6/=7—-8+4 (VI)!

c (VO 4+ (8—7—6) x5+4! = (3><2)'—1
—(V9)!Ix8—7+6!+54 = (3x2)!—
1948+ (7+6) x 54 =(3x2)!—
t—9—8X7+6x5!+4 (2+1)H—o'
:(9+8) x7x 645 = (V4+32) -1
—(9-8)7+6! = (54/3*)1—1

—(9—8)7 +6! =5x4+3!Il-21

=6!/5+(4x3)?—1
=6!—5+4+3-2-1
=65+ 4!+ 3 x 210

=5/ — (VA+3)+(2+1)!-0!
—6x5—4l+311—(241)! —0!

—(9—8)7 +6!
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e 720
S(142)1 = (314+4) x5+6—7x 8+ (V)
C(1+2)!1 = (34 V4)! 45! x (=67 +8 x 9)
S(14+2)11 =3 +41+ (51— 6—748) x (v9)!
(1421 =31 +41+54+6! -7 x (8 —9)
C(1+2)1=31+45+678 -9
C(1+2)1=31+45+678 -9
C(142)!1=3xVAx5!x (—64+7+8)/9
c(14+2)!1 =3 4567 +8x9
c(14+2)!1=3+414+(5-6+78) x9
(1421 =3+4+5+6+78x9
(14211 =3+4+5+6+78x9
C(142)!11 =34+ V4 x5+6 —78/(\/9)!
c(142)!1 =34+5+678+9
c(14+2)!' =34 +5+6784+9
c(1+2)1 = V3 (—5+6+78) x9

e 720
(V12 x 3)! =41 — 5! + 6! +7 + 89
(V12X 3) =4+ (5+6!) x (=7+8) —9
(V12X 3)! =45 + 678 — /9

0720
:((1423)/4)! = (5+67+8)x9
:((1423)/4)! =5+6!— (7+8)/v9

(12445 =6l x (-7+8)°
:1x(2x3)! =4+5+6/+(7—8)x9
1PP el = (748-9)!

0720
:1—2431/44+54+67x8= (/9!

: —123 + 45+ 6! +78 = (VoI
e 720

S((—V9+8)! —7) x 64 (5+V4) x 3! = (2+1)!!

M= (8!47!)/6!+5*4+32x 1

= (8! —7!)/6! =5 — 4! 4 3!l — 21 40!
N=(8—-7)x6x5—4 -3+ (241!
Il =81/7'4+ 6! —5!/4+32—10
M=8x (7+6)+5*—32x1

N=8x (=7+6+5)+ (V4 x3)!— 210
M=8x7!/(6+5" + (4+3%) x10
M=8x7!/6—5x 4! x 342
N=8x71/6! —54+311 —2x1
N=8x7+654x(3—2)+10
N=8x7+654+3"+1
N=8x76+(54—3)x2+10
N=8x76+5'—4—-3-2+1
N=8+71/6+ (5! —V4) x31 -2 -1

)

)

)

)!

)

)

)

)

)

)

)

)

)

)

=847 x6x5+VE —

M =847x 6! x5+ (4! x 31 4+2) x (1+0!)
MW=8+7+6—5x44+3x2—1

M =8+7+6+5!x vV4x3-21

M =84+7+6+5—4+3!1-21-0!

M =8+76+5!+43 x (24 10)

M =8+76+5+ (4! +3!) x 21 40!

MW =87x6+(5—4+3)x2x1

M =87x6+(5+4) x (32— 10)

)W =87+6! —54—-32—-1

W =87+6+5"+3-2+1

MW =87+6+5"—31-2+10

N =87+6—5+V4+3x210

W =+v-8x7+6!+5—5—4l+(3x2)+1
M=V8+7—6-5+Va+(3x2)!x1
M=v8+7—-6—V5+4+(3x2)!'x1

0720
19X (8+7465) = (4! +3—21)!
19 x (84+7+65)=(vV4+32)!x1
19X (847465 =4-+31—2—-1-0!
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0720
(-9 +8+7)! = (6454321 x 0)!
(=9 +8+7)! =6x (54+3) x2x1
1 (9—-8)7 x 6! = (5+(4—3)*)!
:(9-8)7 x 6! =5x4x3x (2+10)
: (98 + (7 — 6 x 5) x 4) = (3x2)!x1
:—9IXx(8-=7)+6!+54+4 =(3x2)x1
:—9—81/7146!+5+4x3=(2+1)!!
:98x74+6x5+4 =(3x2x1)!
0720
VOB |1=7+4+6l—-5-4+3-2+1
VB |l =746+5+4+311-21-0
VOB |1=746—-5xV4+311-2—1
\ V V98 |11 =764 (5 x43) x (24 1) — 0!
V98 |11 =76+ 5%+ /31172 + 1
0721
114 (2x3)! =41 x56—7 x 89
14+ (2x3)!=41-5+6!-7-8-+9
14+ (2x3)! =4+5+6!—7+8-9
0721
14 (V2 +34)! =5+4+6/4+7-8-9
:—14243%xV4x5 =6+ (-7+8)°
c—1-2+4311+4 =514+6!—7x(849)
e 721
(VO — /=8 x 7+ 6!+5!+544!
= (3x2)!x1+40!
29 —81/7! + 6!

=5 — (V4+3)!+ (2+1)!1 40!

e 721
1 (9—8)7 +6! = (54/3%)1 +1
S (V! (8 —7)%5 = (V4+32)! +1
:9+8x (76 +5)+4> = (2+1)!1+0!
:—9+8-7+6!+5+4=3x2)+1
19+ 8746l —5!4+43 = (2+1)!! +0!
198 X 7+ 6+ 5+ 4! =(3x2)+1
198 +7 x (65 +4!) =(3x2)+1
V9 —8x74+6!+54 =311+2-1
:—V9—-847+46!4+5 = (V4432)! x1+0!
c V9 —-8+4+746!+5 =V4+(3x2) -1
0722
11X 2431 =4l —546!+7—8x 9

t1x2430 =4+ (5+6!—7) %
t1X2431=44+54+6/+7x(8-9)
t1x24311=44+54+6/+7x(8-9)
t1x243!!=44+54+6!—

(—=8+9)

(-7+8)°

0722

14+ (2%x3) —4+45=6/47—-8+9
11X 24 (3 x V4)!

=5+6!4(7—8) x V9

0722

c(VI2ZX3)+ V4 = (546! x (=7+8)—9

~(VO)!I+8x76+5 = (Vax3)+2x1

19 % 87 — 65+ 4 =311 +2x1

:—VIX (8—7)4+6!4+5 =44 (3x2)!—1-0!
9% (8—7)+6!+5 =4-+31-2x1

CVIX8+T 46 —5 44 =3142x1
V9 —8+7+6! =5xV4A-+31+2-10
V9 —8+7+6! =5-44+(3x2)+1

:—V9—8—746/+5x4 = (3x2)4+1+0!
: V98746 +5x4 =31142x1

0723

45

C(14+2)14+3=4145/x6—7—8—
c(14+2)11+3 =41+ 5! +67+8Y°
C(142)!1+3=4+454+6x7x(8+9
C(142)!1+3=4+454+6x7x(8+9
C(14+2)M+3=45+6x (=74 (8 —V9)!)

(V9)!

)
)
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0723
t1x243!1—445=6!—(7—8) x V9
:—14+(2x3)!1+4 =5+6!—74+8—+9

0723
c(9+8)x7x64+54+4 =3I4+2+41
V9 x (8—7) + 6! = (5+4)°%—(2+1)!
V9 x (8—7) + 6! = (5—4) x (31+2+41)

IX8+7+6!+5x4=314+2+1

c—VI9+8—-T746!4+5 =4+ (Bx2)1+1

0724
c (V12 x3)! + 4 =5+6!—(-7+8)°
19X (847465 +4=3!142+1+0!
VI+8—-746!  =5-V4+(3x2)!+1
e 725

:((1423)/4)!+5 =6!+(7+8)/V9
:(9—8)7 x (6! +5) =4+ (3x2)+1
c (VO —8+47+6=5x((4x3)2+1)
(VO —84+74+6 =5+ (V4x3)! —24+140!

0726
S(1+2)1 43! — 45+ 678+ /9
S(1+42)!+30 = (V4)> +6! —78//9
S(1+2)!+ 30 =41+ (—5+6) x78x9
:(14-2)!+ 3! —=4x5+6/—7x(8—(V9))

14+ (V2+34)!+5=6!4+7+8-9
14+ (V2+34)!+5=6+(7+8-9)!

0726
S(V9)!I x (8x7465)  =4+311+2x1
1 (V9)! X (8746 X 5) +4! =34 (2+1)!!
t1x 24311 +4 =5!x6+7+8-9
:—94+8+7+6! = (5!+4—3)x (2+1)!
:—94+8+7+6! = (5+4—3)1+(2+1)!
°727
—1+2°+ (VA+5)!1=6!-7x (8—9)
t1+24311+4 =5146!+7—(8—19)!

727
((9-8)x (7+6!) =(5+4)°-2x1
:(9-8)x (7+6!) =5+V4+(3x2)!x1
:(9—8) x7+6x5 = (4+3)>—1-0!
:(9—8) X7 +6x5! =443+ (241!

VB |1l47=61—5+4+32—1
VO |11 4+7=6x5!—4+3-2+10
°728

(VN +8=7Ix6/5!4+4x ((3+2)!—1)
(VO +8=7+6!4+5-4-321x0
(VO +8=7+6!+5—V43/2x1
(VO +8=7+6+5x ((4x3)2—1)
(VO +8=7+6+5"+3>x10
S (V) 8 =76 + 5* 4 3211
: (V9! 8 = 76 + 54 4! x 32F1 — 0!

e 728
BB el +7 =84 (V9!

(VN 8/7 =6 +5+4— (321 x0)!
C (VO 4-81/7 =6!+5-4+3x2+1
:9—8+7+6! =54 4x (=3!14+21)
19—847+6] =5x4+311—2-10
(9847460 =5+4+(3x2)!-1
19 —8+7+6x5!=(41+3)*~-1

:9—84+746x5!=(Vax3)!—2+10

(1+2) —4145x% (6+(748) x9)
(1+2) —4-54+6/—7+8+49
(1+2) = 454678 + (V/9)!
c(14+2)% =VA+54+6/+7-8+19
(14+2)V% = ((5+67)/8)"

(1+2) —7+849

( —(7-8)x9

46
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0729
£ (98 — 76 4+ 5)V4 = 321!
9% (87—6) = (5—4)x3D)
19 x (87—6) = (54/31)*!
:9x (87 —6) =51/4+311-21
:9%x(87—-6) =5+44+(3x2)!x1
(9% (87—6) =5+4+(3x2)!—1+0!
98><(7*6)*5 — (4| +3)2+170!
98><(7—6)—5 — (4| +3)2 %1

e 729

:—9—8+7+6!—5+41 =32

: —V9 % (847) 46! 4 54 = 303F1)!

e 730

c(142)% —4+45 =6/ —74+8+9
c (VO —8 746544l = (3x2)!+10
c(V9)!I x (8x7465)+4 = (3x2)!410

t—94+8+74+6x54+4 =(3x2)+10
:94+8—7+6! =5 44302+
:94+8—-746! =5 44 3(2+1)!
19+ 8—746 x5! =(4'+3)%+1
:94+8—7+6x5! = (V4+32)!'+10
1948746 x5! =443+ (2+1)!

0731
(142 +vV4 =5+6/+7+8-9
V94 8/714+6! =5xVa+(3x2)+1
SVIH8/7I 46! =5+4+3114+2x1
V948 x7645! = (4! 4+3)> + 140!
: V948 x 76 45! = /4 + 321!

732
(124311 =41451x6—7—8+19
D12 431 =41 451+ 6 x 7 x (8 + (VI)!)
(12431 =41+ 546! +7—8x+9

:12 43! = 4 +56 x 78/(V9)!
124311 =45+ 678 +9

S12431 = VA +5+6!+7 -84 (V9)!
0732

c(1243!1) x (—4+5) =6!+7+8—1/9

112+ (3 x V4)! =5%x64+78x9

e 732
((9-8)x (74+6!4+5) = (V4x3)!+2+10
1(9-8) X (7+6!4+5)  =4x3+(2+1)!
19 x (—8+76) + 5! =4x3+(2+1)!
C—94+8-746/+5x4 =311+2+10
: —9 487 + 654 =311 +2+10

c—9_81/7' 4+ 6! +5+4] =311+2+10
c—VIX84+7+614+5+41=311+2+10

732

:—V9+8+746! = (5 +V4) x /3 x (2+10)

c V9484746 =(5+4)°+2+1

e733
c(142%+4 =5+6!47-8+9
T124311—4+5=06!+78/(V/9)!

e 733

VOB |11 474+6=(5!+V4) x3x2+1

VO |11 4+74+6=(5+4)>+2+1+0!

:9—8+4+7+6!+5 = 44302+
734

(14245 =61 +7 % (8- (VO)!)

1124311 4+v4 = (5+6!)x (—7+8)+9
734

19 % (87 —6)+5 =4+ (3x2)!+10

1 98/7 4 6! = (5!4+4)x3x2-10

:98/7 + 6! = (5'+V4) x31+2x1

:98/7 + 6! = (V5 +4)!+311-2+10

1 98/7 4+ 6! =544 4314 (24+1)! 0!
e 735

c(12=3)V*5 16 =748+ (VO
(VN H8471/6! = (5+4)° + (2+1)!

(VO 4847  =6!45+4+3x2x1
(V4847  =64+5-4+311-2410
e 736

1124311 +4=5!—(6+7) x 8+ (VI)!!

47
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0737
1423 x (V4)® =67 x (8+V9)
tVIX 8746l =5+41+311-2-10
VIX8—T7 46! =5+4x3+(2+1)!

738
c(142)1—31+4l =5 x6+7+8+9
S(142)11—314+4! =5/ —6+7!/8— (+/9)!
1123 x (V4+5)! =6!+7+8+9

e 738
V9484746 =5x4431-2x1
V9484746 =5x+vV4+31-2+10

V94 8+746x5! =41 -3+ (2+1)!!

° 740
:(9%x8+476) x5 = (4'x3+42)x10
198 x 71/6! + 54 =311+2x10

198X 7+6x (5+4)=3114+2x10

0741
P 142431 +4x5=6+7+8+ (V!
(1243114445 =6+7+8+ (V)

741
:(9—8)7 +6!+5x4=3l1+21

(VO 484746 =5x4+(3x2)+1
(VU +84+74+6 =5—4+311+21—0!
(V9! +8+7+6 =5—44314+21—0!
194+8x7645!+4 =3!1421
:98/7 46! +5+V4 =311+21

:—VOx (8)+765 = (V4x3)421

o741
:—\/ V98 — 71+ 6l +51/v/4 =311 4+ 21

VO + 746! +5 — 414311 -2-1

0742
P 1 X 2431 +4 =546/ —7x (8+ (V9!
c—1 X243 44 =5467 X (84 19)

742
. 98+ 71/6 =5V4431-2-1
1 —98+7!/6 — 54+ 3!l — /210
VIX8—T74+6!+5 =44 (3x2)!—1-0!
VIX8—T74+6!4+5 =4l4+311-2x1

:V94+8+7+6x5+4=23114+21+0!
743

c—14+(2%x3)+4l =5+6/+7+8+19

VI 84746/ +5=41+(3x2) —1
o744

:(V12x3)! +4! =5!+6! —7—89

1% (2x3)!+4l =5!+6!—7—89

(9484746l =5'+(3+2)1-1
V94874654 =3+ (2+1+0)!
e 745
14+ (2x3) +4=5x (6+7—8) + (V)
e 746

c(1+2)—34+41+5 =6!+78//9
c(14+2)!14+314+4x5 =6!+78/9
:1 % 24311 44! = 5% 6+78/v9
c (V) +8+7+6!+5=41+31142x 1
0747
c(1+2)1+3+41=54+6+71/8—9
1424311 +41 =5146+71/8-9

e 748
:—9—-8+765=4+3!!4+(2+140!)!
e 749
:—98+7+6!+5! =4!4+31+ (2+ 1)1 — 0!
e 750

S(142)!1+314+4! = (514+64+7—8) x (VI)!
(V)N/8+71/6 = (5+4)3 421
(VO)1/8+71/6 =5-+4+311+21
:—(V9)11/8+71/6 =5+4+3!1+2140!
:—V9 — 87+ 6! 5! =41+ 314+ (24 1)!!
e 751
t1X 2431441 +5=61+7+8x9

198 X 7465 =41 431+ (2+ 1)1 40!
‘VIX8+T7+6!  =51/44+(3x2)!+1
VIXx8+7+6! =54+31x21
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e 752 ®763
: ((V9)! +8) X 7+ 654 = 311 + /210 : (V9)! — 84765 = 43+ (24 1)!!
c =\ V98 — 746145 =414311-2410 764
53 :—9+ 84765 =4l431+2x 10
[ ]
c(14+2)% 44 =51—6+7!/8+9 765
.9 x 87 — 6 x5 = 41 432+ (—142) x 311 +45=6!+(7+8) x V9
54 . (9—8) x 765 — 414311421
[}

VI x (847)+6! = (5!+4)x3+21

(124314 (VAP =6x7 -84 (V!
VOx (8+47)+6! =5Y%4311421—0!

(V9 —8+4+7x6 =5!+4+3x210

D(V9)! — 847 x6 = V544 32+ * 766
V984765 =4I+ (3x2)+10 9 —8+765=4lx32-1-0
:9 —8+765 = 4! 4 3!1 + 21 + 0!
e 755
767
L —(V9—8) x 746! = (51/4+31) x 21 — 0! *
1 x 243! +45 —6/+7x8—9
:—(V9—8) x 746! = (5+41) 43+ (24 1) Vo484 765 31
142431+ (VA)® =61 +7 % (8—9) AR I
756 : VO [1x7 46! +5=41x32-1
:(V9)! X8 —7+60 =544 4311 +2+10
$12 4311 4 4! = (5'4+6)x (7+8—09) o767
. | | —
t12430x (445! = (6+78) x9 L9+ 8x 746! = (5 —4) x (31 +2) — 1
19 % (8+76) = (53— V4)!x3ix21 91 8x7+6l=5"%13114+21+0!
29 % (8476) — 54 x (31— 2+ 10)
° 768
758 (142143445 =6!/(7+8)+ (V!
S (V)1 +8!/7!+6 x5 =4l x32—10 :—9x81/7'+6!+5 =4x32x1
- :—9x8+7/6 = (5! —4) x 3x2+1+0)
[ ]
:—9x8+7!/6 = (5! —4!) x (32 —1)
:—(\ V98) +71/6 = 51/4 + 32+
e 769
*761 S(VO) (81 =71 /(6 x5!) =4! x32+1
S12431 44145 =6l —7+8x (V9! 769
:(V9)! X8 —7+61=5+41+3114+2+10 (V)11 + (81 — 71) /6! = 5% + (31 x 2)1+0
*762 770
t(1+2)1-3+45 =6x (74 (8=v9)!) C(142)11+ (31 +4) x5=6!+7x8— (V9)!
:9 — 87 46! +5! =434+ (2+1)11—0!
o 2+ (VO +8+7%x6  =5+414311+21
VO | 15760 (54 vE) x 3t @y G (VOUHBETX6  =54431-2-1-0!
: —V9 +8+765 = 41x32+140!
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0773

:—V94+8x74+6! =54+ (3x2)!1—1
775

t(VO)! x 8+ 7461 =5 x (32-1)
776

(14 (24 V34 x 546! =7 x 8+ (VI)!!
776

V9484765 =443+ V20,

S (V) +8x71/6! =5!/\/4+311—2—1—0!
c (VO +8x71/6! =54 4311 +2 x 1
c (VO +8x7 =6l+54+3-2+1

)

(VO +8x7 =6!—544 (34+2)!—10
0777

19X 87 —6=54+311+2+1
0778

:—(V9)! —8 X 7+6! +5! = 4! x 32+ 10

i —V9+8x74+6!+5 =41x32+10
0782

C (VO +8x 7461 =51/VA+311+2x1

c (VO +8x7+60=5/VA+3114+2—1+0!
0783

9% 87 =(6—5) x V& + (24+1)11 —0!

:9x 87 =6!x (5—4)+3x21

9% 87 =6!+ (5+4)/3 x 21

19X 87 =6+54+311+2+1

19 x 87 =65+ (V4 x3)—2x1

19X 87 =65—-4+3114+24+1-0!

19X 87 =6 x5+4+(3x2)—1

19X 87 =6/ x5+4+(3x2)—1
e 783

: ( @) X 746! = (54 4!) x 3271

: ( \/973) X 7+ 6! = 54 + 32+1)!

784
19X 87+6—5 =48+ 241!
‘VI+8 X7 46! 4+5=(—4+32)1H"
VI8 X T 46! +5=43+(2+1)!

50

e 785
1422 (VA5 =6!4+7x8+9
(94 (8x7)+6x5 =434 (24 1)1 40!

e 785
(9+8x7+6! = (V5i+3)2+1
19+8x7+6l=5!/V4i+3l+ (2+1)! —0!

e 789
t(142)% +4+56 = 789
1 (142)° x (41 45) +6 =789
11+ 23445+ 6! = 789

e 789
19 x 87+ 6 = 5!/v4 + 32!

791
(VO — (81— 71) /6! + 5! = 41 x (32 +1) — 0!

0791

VI—8+71+6l=(51—4—3) x (24 1)1 +00)

792
S(14+2)11 31/ (V4 x 5) = ((6! +78) — (VI)!)
C(14+2)11+3 x 4 = (5+67) x (8+9)

792
c—(V9)! x8471/6 = (5! +4 x 3) x (2+1)!
:—(V9)! x 8+7!/6 = 5! + (4! — 3) x V210
(9% (87+6—-5) =4Ix(32+1)

®793
(V) —8+476+5=4! x 3+ (2+1)!1 +0!
:9—8x7+6l+5 =4l x (3241)+0!

©794

:\/ V98 — 746! =54 4311 +21 — 0!

e 796

V98 |11 176 = 54 + 311 + 21 4 0!
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© 797
C(14+2)U+3%x4+5=64+7x (84+19)
:(V948) x 746! = (—5+43) x21—0!
S (V9+8) x74+6! =51—43+(2+1)1
:—9+87+6! =5+4Ix (32+1)

® 798

:123 — 45+ 6! =78+ (V9)!!

19X 84746! = (=5+43) x 21

1 —94+8746! = (—5+43) x21

i 9+ 8746 =5+4!x (3241)+0!

e 799
:9x8+4+7+6! =(—5+43) x21 40!

9Ox8+74+6/=vV54x32-1

e 801
(1421143 = (54+6+78) x9

e 804
c (V)1 +8+476 =5!—443!1—/210
112 % (3x 4! —5) =6+ 78+ (VI)!!

* 807
c(142)11+3x (4! +5) = 6! +78+9

e 807
(V) +87 =6/ + 51 —4! —32 — 140!
(V) +87=6x5x (4+3)—2—-1
(V) +87 =6+5! x 4+321

e 808

A/ V9B 47 £ 6! = —5! — V443114210

e 810
:(1243!1) x45 =6x (748) x9
(9% (84+7)x6=54x3/2x10
:98 -7+ 6! =54 x (=3!421)

¢ 813
S (V9)! +87+6! =51 —41+311—2—1

e 816
1 x (2%x3)—41+5!=6!+7+89

e 816
:9+ 87 +6! =5—4'+(3x2)x1
:9+4+ 87+ 6! =5—44311—-21+0!

98 — 746! +5 =4 x (—3!+210)

e 817
c(VO)1/847 46! =50 —4!l+ (3 x2)! +1

* 818
. ((V9)! 4 8) x 7+ 6! = (5!/41)! 4 311 — 21 — 0!
(((V9)! +8) x 746! =50 —41 + 311 +2x 1
c1Xx 24311 —41 450 =6!+7x (8+ (V)

e 820
S (—(=V9+8)!1+71)/6 = (5! x V4/342) x 10
S (—(=V9+8)+71)/6 = (=5!+ (4+3)1)/(2+1)!

e 823
:—=9-8+4+7!/6=5'+4+3!I! -21

e 824
D 124311 —445 = (6+7) x 8+ (V)
S (V) 4+ 8% (746) =5!+443!1 —21+0!

* 825
c(142)% —41 451 =6!+71/(8 x (VI))
: 98+ 7 + 6! = 5x (4! x 31 +21)
* 826

c—(V9)! —8471/6 = (5! — V4) x (3x2+1)
:—(V9)! —8+71/6 = V54 x (32+1) + 0!

e 828
(9% 8+7)/6 =5—4143!14+2+10
(9% 8+47)/6 =5—4x3+(2+1)!
:—9—8+471/6+5=4x(—3+210)

829
:—v/9—-8+71/6 =5%*—31+210

¢ 831

. — ( @) +7/6 = (5+4 x 31)%2 — 10
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e 832

(=(V9)! x 8+71)/6 =5! — (V4)

S (—=(V9)! x8+71)/6 =5 —3+210

833
t—1—24311—445! =6/ -7+ (8—19)!
(V948! —7+6! =51 —4—3+(2+1)!

S (=V9+8)! —7+6! =5+4x (—=3+210)

835
V9 —8471/6=5—4+(3x2)! -1
:V9—8+71/6 =5x (—43 +210)

¢ 836
1 (V9+48) x 76 = (—5+443) x (21 +0!)
:(V948)x76=5—4+(3x2)!x1

e 837
:9x(874+6)=5x4!+311-2—-1

* 838
c(VI9)! —84+71/6=5—44+3I142x1
(V) —8+71/6 =5 +3+210

® 839
=14+ (2x3)!1+4!x5 =6!4+7x(8+9)
:(9+8) x7+6! =5Ix(4+43)—-2+1
:(9+8) x 7+ 6! =50+V4+311-2-1

S (—V9+8)!x7—64+5=4!x (3% —1) —0!

e 840
(14214 (3+V4)! =5146!x(—7+8)°
C(1+2)11 =31 4+4!x54+6="7x (8 —9)!
112 x (34+4) x5! = 6!+ ((7+8)/V9)!

:123 — /445 + 6! =7x (8—19)!
e 840
:(9-8)x71/6 = (5—4+3)x210

:(9-8)x7!/6 =5x4!/3x21
:98/7 x (6 +54) = 3!+ ((2+1)! —0!)!
:98/7 x V6! x5 = (44+3)!/(2+1)!
:98/7 x V6! x 5 =41/3! x 210

F30— (24 1)

e 840

:( \/\/97*) +7 46!+ 5!+ V4

=31+ ((241)!—0)!

e 840
S (—V948)! X7 = (—6+5x4) x3x2x10
(- xf9+8)'><7_6><5><(4+3+21)
(—VI+8)I x7 =645 —4+311-2x1
:(—V9+8) x7 =645 —V4+3Il—(2+1) 0!
o841
:(V9+8) x76+5=4!x (32 —1) 40!
:9—-8+7/6 =(5+4x3)2-1+0!
:9—8471/6 =5Ix (4+3)+2—1
:9—-8+7!/6 =5 4431+ ((2+1)—0N!
® 842

—(V9)! +8+71/6 =5+ (V4 x3)! +2x 1
— (V) +8+71/6 =5+ V4431142 —-1-0!
19X (8746)+5 = VA+3I+((24+1)! -0

° 843
V98 | +71/6 = (5+4x3)2+1+0!
Vo8 | +71/6 =5!+4+4 (3x2) —1
e 844

:(V9x84+71)/6 =544+ (3x2)x1
:=94+8+4+71/6+5=4+3Il+((24+1)! —0!)!

e 845
C V94 8+71/6 =544+ (3x2)+1
tV9+8+71/6 =5+ VA+31+2+1

° 846
S(142)! 4 (3+4)
(—V9+8)!x7+6
((—V9+8)!I x7+6

X 5! =6+7x (8—9)!
= (5!4+41—3) x (2+1)!
=514+ V4431 4+2+1+0!
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o847
1424310 4+4450 =6!+7+ (8—1+9)!
S (—V9+8)+7+6l =5!4+4+3114+2+1

e 848
((—(V9)! +8)7 +6! =5!x (4+3) —2+10
S (—=(V9)! 4+8)7 46! =5+ V443!l + (241)!

* 849

: ( @) +71/6 =5 x 41 + 31!

e 851
VO 8+71/6 = 5!+ V4 + 32+
V9 +8+71/6="5%x3 210

e 852
:(9x8+71)/6=5'+41+31—-2-10
:(9><8—}—7!)/6:5!—|—\/1><3!+(2—|—1)!!

e 852
S (=V948)! +7+6! +5=4x (3+210)

e 854
C(V9)! +8+71/6 = (5!4+V4) x (3x241)
S (V9)! +8+71/6 =544+ (3x2)!+10
:98/7 + 6! 4 5! =4!'x3%7-10

V9 +71/6+5 =41 x 31210
e 855

:(142)!1+3x45 = 6!+ (7+8) x 9
£ (9% (847)) +6! =5x (4 +3) + (2+ 1)1

e 857
:9+8+7!/6 =5+4x (3+210)

¢ 860
S((—V9+8)! +71)/6! x5! =43 x2x 10
((=V9+8)! +71)/6 = (54+32) x 10
:9X (847)+6!+5 =43 x2x 10

e 862
:—94+876=5+4x31>—-1-0!

e 863
198 +765 =4 x312x1—0!
198 +765 = 4! x 312 — 1

e 864
t1x2x3x (445! =(=6!4+7!)/(8 —V9)
:123//4 (54+6+7) x8x (V9)!

e 864
19 x 8 x (7!/6! +5) = 4 x (3! +210)
19 x 8x (7!/6! +5) = 4 x 31>11
:9+8+7+6!+5! =4 x (3! +210)

e 864
:VIX84+71/6=(5!4+4!) x3x2x1
tVIX8+71/6 =544 x (32 1)
VI X 8+71/6 =544 +31 421 0!
VI X8+7!/6=54x (31+2) x (140!

* 865
(=V9+8) +7/6+5=4x3%+1

® 867
:—94876 =5!4+4!+3!1 +2+1
:—9+4+876 =5!4+4!4+34+ (2+1)!!

¢ 870
:—(V9)! +876 =5+4! x 312 +1
:—(V9)! +876 =5 +4 x 311 1 (!

873
: =9 + 876 = 5! + 41 + 32+

:—V9+876 =5+4 x (311 1 0!)

¢ 879
V9 + 876 =5+41 x 312 + 10

¢ 880
194+ 876 =5—4! x 314210
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* 882
:(V9)!+876 = (5+V4) x 3! x21
1 (V9)! +876 =54x3+ (24 1)!!
198 x V76 +5 = (4! —3)? x (1+0!)

® 885
:9+876 =5!+4!+ 3! +21

* 887
: (V9)! + 876 +5 = 4! x (312 +1) — 0!

e 888
c—12+431/4x5 =6l4+7x8x19
:—9x84+71/6+5! =41 x (31> +1)
:VIX8xT7+6! =5l+4x32x1
VIX8XxT7+6!  =5+4%x(2+10)
* 889

S(V)! A+ (81 =71 /6! + 5! = 4! x (312 +1) + 0!

¢ 890
194876 +5 = (4! +3!)* — 10

* 898
:—(V9)! =8 x (71/6! —5!) = (41 +3!)2 =1 —0!

* 899
19+ 8+7x (6+5!) = (41 +31)2 -1

©900
S(14+2)11+311/4 =5!/6 x (7+8) x V9
(V) x (847)/v6!/5 = (4!+31)2 x 1
(V! X (847)/V6!/5 = (—V4+32)1H"

¢ 901
S(9+8) x (=74 V6! x5) = (4! +31)? +1

902
S (V9)! 48X 7+6!+5! =43 x21—0!
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¢ 903
S (V9! 4 (8! +71) /6! + 5! = 43 x 21

904
S (V)1 +8 % (=7 +6 x 5) =43 x 21 40!

¢ 910
:98/7 x 65 = (4! 431)2 4+ 10

e 912
$(9—8+7)x (—6+5!) =4l x (32 4+1+0!)

:9x8+71/6 =51 +4!x (32+1)

¢ 930
S((142)1+3!1/4) x5 =6!+7!/(8 xV9)
S (94+8+746!)x5/4  =311+210
:(V9)I1/8+71/6 = (5—4) x 311 +210
S (V)/8+71/6 =5!/4x% (32 —1)

:VIX (8X7+6)x5 = (V4 x 3)! +210
V9 x 8+7 x (6+5!) +4! =3Il +210

T\ VB 4+ 71/6+5+4
A/ V9 4+ 746! +514+ 4 =311 +210

= 3!+ 210

933

VI8 +71 46! =5 +44 314210

¢ 936
C(1+2)P 4 (VA5 =(6+7)x8x9

9% 8% (7+6) = (5x 4! —3) x (=2 +10)
19 x 8x (7+46) =(5-Va)r+@2+1)!
¢ 938

198 +7!/6 =5! x4!/3-21—-0!

¢ 946
:—(VO)! 48 x (=7 4+ 6+ 5!) = 43 x (21 4-0!)

e 951
:—9+38!/(7x6) =5+43 x (21+0!)
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e 954
C(142)!1 =31+ V4 x5 =6/ 478 x V9
c— (V) +81/(7x6) =(5!x4—-3)x2x1
:—V9+87x (6+5) =4!+3114210

° 956
:(V9+8) x76+5! =4x (311/(2+1) =0

° 957
: V94 81/(7x6) =5 x (V4> —2—1

959
S (—=(V9)! +8!/7)/6 =5!/4x32—1

(—=(V9)! +81/7)/6 =5x4!x (31 +2)—1

(—9+8)+71/6+5!=4x3!1/(2+1) —0!

0960
S(142)!11/3 x4 =5!x (64+7—(8—19))
: (98/7 — 6) x 5! =4x3!1/(2+1)
S(V)! X 8!/(7! x 6) = (5+43) x 2 x 10
S (V91 x 8!/(7! x 6) =5!/4x32x 1

0961
(V) +81/7)/6! x 5! = 4 x 3!/ (2 +1)! + 0!
(V9! +8!/7)/6 =51/4x32+1
S ((V9)!1+81/7)/6 =5x4lx (314+2)+1

0963
V9 +8!/7/6 =/5+4 x 321

Acknowledgement

e 964
:(\/§><8—|—7!)/6—|—5!:4>< (31/(2+1) 40!

* 966
S (V9)!4+81/(7x6)=(5!x44+3) x2x1

© 969
94 81/7/6 = 5! x V4 4 32+1)!

e 972
:12x3*=(5x6+78) x9
:—V9+ (847) x 65 = 4 x 32+V)-0

e 987
1987 =6!+5!+ (4+3) x 21
1987 =6!+54+3+210
1987 = 6! — 54 + 321
1987 = 6 x 5! + 4! 4 3(2+1)!-0!
1987 =6+5! x4!/3+21
1987 = 65 x 443!+ (2+1)! +0!

¢ 993
:987+6=(5!4+4)x (31 +2)+1

999
V9 +876 45! = (443> — 0!

The author is thankful to T.J. Eckman, Georgia, USA (email: jeek@jeek.net) in programming the script

to develop these representations.
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